COMBINED RESEARCH ASSISTANT IN VARIOUS SUBORDINATE
SERVICES EXAMINATION-2023

COMPUTER BASED TEST

PAPER - I

ECONOMICS
(P.G.DEGREE STANDARD)

The total product is exactly equal to the sum of payments made to the
two factors L and K is

Qurss 2 pusHureargy L wppd K wdu Qran® sryeafsersss Qequssiuc L
Qgrenss@s eflung FLWLS @) (HEHEGD

Euler's theorem (B) Stopler- Samuelson theorem

weiav GCashmid svLriart — gnpCeudaen Csmmid
(C) Rybczynski theorem (D) Arrow's theorem

fluemavdl CaHmd < Grrellen Gammid

(E) Answer not known
clenL Qg flwalcvrena

J.B. Clark an American economist developed tileory of margiﬁal
productivity of distribution of wealth in a country in his book

Ce.4.  Slemmits @ 2CwAss Qummernsmy  Hlyewrt, 6@ BILligd 2 6Ter
Qedveusdharer udlie) @mnfblew 2 pHusdls Hoar CarTiumigen epOL SaTF
Ussa5H6 ellensawatSgerermi

W The distribution of value (B) The distribution of capital

wdider udliey epgarsHer LSliey
(C) The distribution of interest (D) None of the above
culigufer Lidlirey DAY

(E) Answer not known
cllen Qgflweildenc
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3. The Marginal Revenue productivity curve in the monopolistic labour
market with the perfect competition in the product market is also called

of labour.
omfleow 2 hussd sreamfll emsrg wHmb Hlaene LML SksTy Serawufesr Sip
QniFbleoe eumeums 2 HusdH eumersCarh 2 epulless ———  Caruns

&(HSULI(HID.
M Demand curve of labour
2 appLillenr Caeneu auanarsCaT(H
(B) Supply curve of labour
2 appuillen afiiy euanensCam(p
(C) Productivity curve of labour
2 anplidler 2 Husd e cuanearsECam(h
" (D) Marginal cost curve ’
@nfblere GQewaysEGsm(

(E) Answer not known
edlen QgMweildene

4.  According to J.B. Clark, the aggregate supply curve of labour has been

assumed to be in the Clark's version of marginal
productivity theory.
Qurmellwe <ifesit J.B. Qemris - @Qmd How o pusd Cesriumiger,
2 evplidler Qwrss/AQsmE sefiiy Car) ———  sarawulleonar Qpdlpséeaman
QupHH (HESSELW.
% Perfectly Inelastic (B) Perfectly Elastic

Ghdld Apslpesupn Ghdlgid Gpslpesluyemw
(C) Equal to one (D) Less than one

RETMIF FLOLTS peTapneil G®mpaeurer

(E) Answer not known
clenL Qgfwalerenew
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The Kinked demand curve hypothesis is designed to explain the context
of oligopoly

@ wpmnsGearar CsmausCarh smgICamdr Ao whmfleawuled o ¢rer
et @ ma.

(A) Price leadership

clleve savaento

(B) Collusion among rivals
Curiywreriseflen gl ()

(C) Price and output determination
cllene wHMID 2 HuSH SiaTey HliTewrud

93{ Price rigidity

cllene ellewmiiyggenento

(E) Answer not known
cllenL Qgflwaelcrena

Barriers to entry are highest in which two types of markets
Qe h cumswTer Fhangsalldy HMPUSHETH SMLGET A SLONG 2 6Temet

(A) Collusive oligopoly (B) Perfect competition
@emsspeLw S WPHmEHLD Hlevpa| Cumiig

(C) Monopoly M Oligopoly and Monopoly
FheunSerbd feir pHmIeO WHMID Freurdearbd

(E) Answer not known
clenL Qg flwaelcrena
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7.  According to the average cost pricing theory, prices are fixed on the
basis of

gyraf eflenew Camiumgeruy eflene ergen SigriuemLulled SroraflssluBdng
I.  Average direct cost
ggmafl Crry ey
II. Average overhead cost
ggnafl 2 puss grgng Ceway
ITI. Normal margin of profit
rugdlen @] curby
IV. Advertising cost

Nerouy Qewaey
(A) OnlyIandII : (B) Only IH and IV
I womw II w G III wpmd IV wi @b
Only I, II and III (D) Only I, III and IV
L IT wpmd IIT we pw I1, III whmw IV v G

(E) Answer not known
cllenL Qzflwelcrena
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Choose the right matches among the type of price leadership :
Meves seamaawuler cuamssafier sflwmer Qummssrismears CsibOsH S :

I.

II.

ITI.

IV.

Price leadership by low-cost firm —

GBS cllene Hlmeuarssme
cllena gameento

Price leadership of dominant firm -

< S650 Qegipgi> Apeardan
MR FEMOELD

Exploitative leadership

GTETL_L SMLELD

Barometric price leadership

urGrr@wfsé alene sameento

W I and III are correct

(©)

(E)

I wpmd IIT &M

II and III are correct
IT womw III &M

Answer not known
e Qgflweldene

Set lower price than the
profit maximising price

of high cost firm

28 2 pusd Qewey Gewiuyb
Hncuangdlern siHsul g ewmu
ellevawenw cHlL FGDHS
cleneverw Fliremruissed
Experienced firm assumes
the role of custodian
S@IUGID  GUMWUIbHS
LUMgISMTeUT LTSS TSms
gopdsrardng,

Hlmicuenid

Fix price and compels others
to follow

Mevew Qarerengseanw &

Qewig) wHpeisemar
Gerudpmibulg sCLTuBuBSSS®
Produce large proportionate
of output to the total
production of industries
Qzmcogafler Qurss

2 HusHulledr Qumbd
Mdlgrssnysemns 2 Husd
Qaflpg

(B) I and II are correct
I vpmw IT &M

(D) III and IV are correct
ITT whmw IV &
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9. The economist used

demand curve to explain price and

output determination under oligopoly with product differentiation.
uarmigefleoCu Coumiiunp Qareare. AoGeont Gumyer eflenew wHMID 2 HuGS

upduw  dleTsssHener
NeT&H S W eTaTTiSHET.

Kinked demand curve
SHmuupdn Caeameus Cam(

(C) Exceptional demand curve

dAleflewsE Caameus Camp

Coameu  Camiigenen

vweru s
(B) Normal demand curve
@Quaourer Camaeus Cam(

(D) Negative demand curve
adliwenp Camaeus Cam(h

10.

(E) Answer not known
clenL Qg flwaelcrena

Oligopoly competition without product differentiation is called
uaLisafleor  Caumpuiurhulerd SHoGort womflerw Gumiy srearriulLme
CTETM HMP&SLILI(HID.

W Pure Oligopoly
gruemwwrer AoGamt wphmilenw

(B) Differentiated Oligopoly
Caupuir . AoCeri poHmifeno

(D) Duopoly Competition
@rieL wpomenws Cumriig

(C) Monopolistic Competition
wpomflenwts Gumiig

(E) Answer not known
e Qgflwelrenaw
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11.

12.

Which of the following is correctly paired?

1. CES Constant elasticity of substitution
CES Beveowimer uHeS B QBHp&s
2. CDPF Cobb-Douglas production function
CDPF sU—-Lm@oev 2 Husd emiy
3. MRTS Marginal Ratio Productivity trade
MRTS Quidflere curenfiiu 2 Husd s
4. C/LR Capital — Labour ratio
C/LR tpwgar — Qgmfleorart alldgw
M 1,2 and 4 are correct (B) 3 and 4 are correct
1,2 LoD 4 &l . 3 wHmIb 4 &
(C) 1 and 3 are correct (D) 2 and 3 are correct
1 wHmd 3 & 2 wHmibd 3 &l

(E) Answer not known
clenL Qg flwalcrena

The shape of the LONG-RUN cost curve depends on

Bar sre GFwaey uameTCHML g6t HMWLIL| GTSMET SFMTHE <UL

(A) Cost of production (B) Average total cost
2 HusH GQFway gynefl Qurss GQswaey

M Returns to scale (D) Diminishing marginal returns
a6y edleerey GdpHg Qg eflenarey

(E) Answer not known
alenL Qgflwaicveney
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13. A consumer reaches an equilibrium position
@@ BsfGeurt eriGurg swfleroew SenLdomi?

pr

(B)
(©

D)

(E)

Economics

At maximum possible satisfaction
Sdlesulgd grsSHwwner warblene| e ujbCurg

At minimum possible satisfaction
GdDHSULS grsSwwner warhlerne| e wbGurg

At Average possible satisfaction
gynefl sngdwwner warfleme; e bCLTE

None of these
@& ergia|bldene

Answer not known
e QzMwaelcvena
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14.

15.

16.

Technical progress would convert the U shaped long run average cost

curve into

Qemfomru wearGampn 'U' eugen SarL s syrefl Qswey euanarGsmen

GTEUGUI3.QULOMS LOMMHMILD

(A) Shape of 'J'
'J' quigeud

(C) Inverse shape of 'J’
"J' et smdLp eugeuld

(E) Answer not known
cllen Qgflwallcvena

Cobb Douglas Production function
&MU L&eTen 2 Husd smiy

@ Q=AL°K’
(C) Q=AL*<K’

(E) Answer not known
e Qsfluaicrena

M Shape of 'L/

L' augeuid

(D) Shape of 'W'
"W' auigeuib

(B) @ =AL*=K?
(D) Q= AL* >K*

A significant property of the Cobb Douglas production function is that
the elasticity of substitution between complementary inputs is
Casmu-L&atev 2 push ermler m @GOHUALsEs Quéy earearteueie
2 aet (D& EHsHE Qe Cw 2 drer LSS (H QBSlpss

(A) Equalto1l
ReTHHE FLWLIHG
(C) Lessthan1
@eHHEG G@DouTaZ)

(E) Answer not known
e Qsflweicrenay

11

(B) More than 1
RETOH @& ASlswreang)
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17. Choose the right answer.
sflumen ellenLemw Cgitey Qewis.

AQ Q

Since A represent marginal product of labour and T represent

average product of labour, elasticity of labour can be written as

% 2 enplidlen ellaflby 2 HusdHevwuybd % 2 enpulen spmafleows GMUuLSTEID
2 ewliler QpflpsHlerw @eucurm er(psed.
@ AIL°K* | MP,
A) APL=-—-= EL =
@) L L W AP,
@ B

© EL:Q:M_. (D).ELMPL

L K PA;

(E) Answer not known
cllenL Qg flweldena

18. The linear Cobb-Douglas function is

&TU Léemen CrrCasmi(h gwemun(p eremugreug
(A) Q=a+b, —CL? B) Q@=a+b;
g@( Q= ALK D) Q@ =a+bL+CL*-dL?

(E) Answer not known
aden Qs Mwelcrene
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19.

20.

The transformation of resources into economic goods and services is
called as

cueThiGeer ellemewdlierer QumLger wHmid Csmeuserts wWIHMIDL WPwHHew
ereueum AMP&HTCHLD.

(A) Technical efficiency (B) Input
QamleomL L mer 2 amat(H

M Production (D) Increasing return
2 Huss <fsM&@n alenera]

(E) Answer not known
efer Gz flwaeildere

The two inevitable ingredient inputs discussed in  Cobb-Dougles
production function are

si-L&emer o Huss ermie seliss Wuwrs 2dethaerms NeurdssuBume
oTeM oY ?

(A) Land and capital (B) Organisation and capital
flob whpid Weds® Hpiauard whmib Wseso
(C) Labour and land M Labour and capital
2 ey wHYID Hlaw 2 Uiy LHYID WSSO

(E) Answer not known
afen Qzflwefdena
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21.

22.

Input-output model assumes that
2 araf(H-Geuaflui B wrdNulen sewramisaT
1. Industries are independent
Qamfleraar asbdrwmeaieneu
2. Constant returns to scale
LrOT UL eleerey aild)

3. Homogeneous product
efludyew QurmLasen

4. No technological change

Qamleomu cuerigflufenenio

(A) 1 and 2 are correct (B) 3 and 4 are correct
- 1 wHpbd 2 &M - - 3 wHmib 4 &M
(C) 2,3 and 4 are correct M 1,2,3 and 4 are correct
2, 3 wHmib 4 &l 1,2, 3 wHmb 4 &f

(E) Answer not known
el Qg flwelerena

Rawl's social welfare criterion is primarily concerned with the
grevdlen supsTw e CaTUTH eTeuhemn gL WTES QaramLg) ?
(A) Sum of utilities of the society

&eps LweTum(hseter g (b
(B)  Universally accepted value judgements

2 wsarelled gpmsCsararariiul L Hé wHiyser
(C) Individual preferences

safluul L amuug Caireyser
M Distribution of real income

2 Ggrend eu(mmarsdlen LSy

(E) Answer not known
edlen QgMwelerencw
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23. Arrow's impossibility theorem condition on collective rationality includes

Arrow-clen  srsHwuwpn Csppsded el u@sshelear Hubsmer aTsamer
2 GrerTL&&lwg)

s

(B)
(©

(D)

Consistency and transitivity
flavaggerenw wHMD @ LGLWITey

Consistency and social welfare
Flervssementn HMID Fps Heer
Transitivity and social welfare
@LUQuWTe| LHMID FPs BT

Consistency and transparency

. Hlevassereaw wHnb QeueflliLe gereno

(E)

Answer not known
cllen Qgfwaeideney

24. According to the Arrow's impossibility theorem
< Grredler srsHwifcreom Camiuimigeilg

(A)

of

(©
D)

(E)

Reasonable assumption are essential for making social choices
Blumuwrer S| LDTETTEISET FePS Qg fleneu QeweusHss,
@ eHuLLTSSTEHLD

There is no perfect way of making social choice, given a set of

reasonable assumptions
sepss Qsfeney Qeliugh@ wepwrer el ggildame

Reasonable assume are not essential for making social choices

Huruwrer sigorambsmer Fups Qsflac GeaneusnE Camaiwunng

There is always of social choices
geps Qgfaneu Qelieusn@ eriCGurgGw eufluye

Answer not known
cdlev Qgfwaelevenen

15 Economics
[Turn over



25. Changes in economic policy and its impact on the people can be

explained
orodlern  Qurmertsry  Csratarsser wseallar g gHUHSGDL STESSDS
D PSESHQOLD.
% Compensation principle (B) Welfare principle
@uul® Csrerens Bd QETeTeans
(C) Economic principle (D) Equilibrium principle
Qummerrgmys Qsmdrans goflere Qarerens

(E) Answer not known
clen Qgflwaeléreney

26. The conditions of Pareto optimality. holds under
GuGrLGLmellen 2 5510 aTaysaTar Hlubgmansdr ehs shamsular S o drers) ?

M Perfect competition (B) Monopolistic competition
Blepmays Cumiig ponflepwts Cumiig

(C) Oligopoly (D) Monopoly
Sei wpoHmfenw wponifleno

(E) Answer not known
ellenL QgMwaldeney
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217.

28.

Match correctly the Authors with their concepts:
g SfRlursemaryb Aeauiseaien smsgssmanynd QuUT(Hsg)s.

(a) Lipsey and Lancaster
SOl wHmIb TeTEHTeEvLT
(b) Bergson
LT8G 6oT
(¢) Arrow
<,Gym
(d) Hicks
afléav

@ ® @©© @
s 3 2
(B) 3 1 2
©) 1 2 3
D) 2 4 1
(E) Answer not known

e Gsflueidrensy

LW = =

1.

Compensation principle
@uul® Qsmeatens
Impossibility theorem
srgHwwdn Cahmbd

Social welfare function
FUPSTW BLEFSFTITL

Theory of second best
@ra_reug fphs Carium

State the marginal condition not to satisfy Pareto optimality
Epssa_aupmer ardled LALGLmellen 2 865 satemwerw Uisd OQeucughsren
claflioy Hlener @evenew ereTuang GMILIGL 6y

(A) Consumption efficiency

Bistey Sme

(C) Product-mix efficiency

swurfliy sweameu Gewddmerr

(E) Answer not known
clenL Qg flwalcrena

(B) Production efficiency
2 Husd Qgwedmeir

Resource efficiency
cuermigaflen QFwedmeir

Economics
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29. Match List I(Economist) with List II(Concept) and select the correct
answer using the codes given below the list :

ulgwee Qurmpsgs I (Qurmellwe Hyert) ulgwaier I (s®msg) wHmb ECGw
QarhssuulBerer @Muir oL vwearuBsd sflurear uflaas Caib0shH&sab.

Economist Concept
Qummetlwed Hlujewri &(HSG

(a) Pareto 1. Compensation principle
uGrGum @U@ Asmerens

(b) Hicks-Kaldor 2.  Social welfare function
bl &av-&medLit Fepape Gewdurp

(c) Bergson 3. Social optimum
Quissenr PSS 2 &HSF)

(d) Scitovsky 4. Double criterion compensation
v CLmeusvd Qe oerey Card @ik

@ (b (© @
3 1 2
B 2 4 3
© 3 4 2
™ 1 4 3

(E) Answer not known
cllenL Qgflwaeilceney

N =
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30. Which statement is wrong? Pareto’s social optimum is based on
Qer@ssuul L. ofsmsule og seuprearg? uwGriCLmeller geps 2550
SATEUTATE ——— & SigluLwnsd CsrarL g
(1) Concept of cardinal utility

GTERT Bj6eTe| Lwetum(h
(11) Free from interpersonal comparisons

safliul L @uihsalal®mbg elawss

(1) only wrong (B) (i1) only correct
(1) LLEWL supTeTg (11) v Ew sRwreg
(C) (1) and (i1) both wrong (D) (1) and (11) both correct

(1) wHmyb (1) GreTHb SeupTeT) (1) wogw (1) Grar@Hw eNwrears

(E) Answer not known
clenL Qzflwalcens

31. MRS, =z MRS, =% talks about What?

y
Spssan sweatun® aeoss GNsdpg? 4 MRS,, =gMRS,, =%
y
(A) Condition for efficiency in consumption
misTemer Hlubsenen
M Condition for efficiency in exchange
uflwrdodoer Hlubsemer
(C) Condition for efficiency in production
2 pusdfper Hlubsemen
(D) Condition for efficiency in distribution
udlireySmen Hlumbsemer
(E) Answer not known
clenL Qg flwaelcrena
19 Economics
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32. Pareto optimality in production is
2 pugdluller CuriGLr 2 ghg Seenw ereLg)

Y0 MRTSYyx =MRT S (B) MRS, =MRSZ,
(C) MRTE = MRTE, o) X My
’ ’ PL PK

(E) Answer not known
cden Qs Mwelcwene

33. The concept of general equilibrium and partial equilibrium are
associated respectively with

Qumgisoflere  wHMIL  uGHFFLHM® 5;@‘&,@'1 wpapCGu

QaTLiryenLwig).

(A) Ricardo and Walras M Walras and Marshal
NarrCLm wHmb eurdrev QUGG WHMID LOMTEZEHD

(C) Arrow and Devreau (D) Keynes and Hansen
<Gy wHmid Cseufey - Setteiv WHMID oy 6TEEH

(E) Answer not known
e QgMwaeldvane
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34.

35.

Identify the incorrect assumption of Stopler—-Samulson Theorem.
evLmiei—grapCoudsaiien SeUDTET DIELMTRTSMS L METD STETe|D

(1) The country produces only two goods

Br(H @ranh QurmpLsmar wHGWL 2 HusdH QFudpg
(11) The supply of both factors are not fixed

@uanp srretsatien aNFCLTsD Hlanowmrearg e

(111)) There is perfect competition in both factor and product markets.
sryentl wHmIb swurfluy sbengs wdHw @Qramgabd sllurear Curi g 2 dTerg

" (iv) International terms of Trade is dynamic.

sieuGss cuTsss alldlpems6T WTmib ]
(A) (@v) only (B) (i11) only

(iv) 0w (i) wr G
(© (i) and (i) only @ (i) and (iv) only
(1) womb (A1) LLECW (11) wHmbd (1v) wLHGCwW

(E) Answer not known
e Qg flwaldvene

Graphical presentation of alternative production possibilities in an
economy with limited resources is known as

au@rumIsEs 2 Husd eueThsmar 2 HuSHEE vweaTu@RSHL Curg eleaTés 2 gayb
aumerGarianL g Gasfluiiubhsseynd

(A) Indifference curve (B) Iso quant curve

swCrré@E cuamarCa(p Femey 2 HusHs cuamerGam(h
% Production Possibility Curve (D) Lorenz curve

2 Hugd euriitiy euamarGar(H rreTey euanerGsa(h

(E) Answer not known
e Qgflwaldene
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36. Consumers are in Walrasian equilibrium.

aure@rusrer goBlaauiler HsTGauMT ————— @mLILI.

(A) Payers M Price — takers
et Qar@Huueuyms Mevey gHueUrTs

(C) Principal (D) Agent
wsoreilwns (PSCUTTS

(E)

Answer not known
ellenL Qg flwelcraney

37. To determine equilibrium prices simultaneously in all market refers to

SDagg shamgsaic swblae clame Hlifawrun QFleug —————— eraremb.
(A) Equilibrium market (B) Partial equilibrium

gwblened FHhang UGS Fwblere
M General equilibrium (D) Equation

Qung gwdlane Feum(h

(E)

Answer not known
cdlenL GQgflwalcrenew

38. Income elasticity of demand for industrial products are greater than for
primary products is explained by
ampworer GCsameu QApflpsdl Qsmverinbs Qurmasaies wiHswrseayd e
QumTBETSHEH&EG GMDeuTsHeyd @MHUILms edlerédweui

©)

(E)

Economics

Rau Prebisch (B) Singer

greu Ay Seiy Shsi
Freidrich (D) Zollverein
LAy M& Gevmed@euler

Answer not known
clen Qgfwelevrane

22



39.

40.

The doctrine of unbalanced growth is supported by
suBlevwnn cueriss Camium e ghuueur

(A) Ragnar Nurkse (B) Schumpeter
TS [BT&eL &L

M Hans Singer (D) Rosenstein Rodan
QDTG Gl T Crrgemevig e Crme

(E) Answer not known
clen Qgflwaeilcreney

The unbalanced growth model was propounded first by
soBleownn cuerisdl wrSHM wsded WearGwmAwGLLLg).

1.  Albert O. Hirschman
Soui’ ¢. alireguGLoer

2.  H.S. Singer and Raul Prebisch
H.S. s wombd geyed GfiGevs

3. Kindelberger and Ragnar Nurkse
f@moQuisT wHmID FréerT birdlen

4.  W.W.Rostow and Paul Streeton

W.W. GrrevCLrmeu whmid umed avieGLmer

Codes:

GICERY
W 1 and 2 (B) 1and 3

1 wHoId 2 1 wHoid 3
(C) 1and4 (D) 1 only

1 wHmb 4 1 wL(Hbd

(E) Answer not known
e Gsflwalerenay
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41. Mention the statement given by the Economist “Economic Growth can’t

be sensibly treated as an end in itself. Development has to be more
concerned with enhancing the lives we lead to freedom”
Gereud CupCarar wmymed GupGsmdr sriLliulLg aaums GHNUGLe b
“Qurmerngry eueaniéflarw ACaussHILET @M QUIBLLIE SHSWPGWUTE. BID
UM amhsms wHmib &ssBdrsas Cubu@sgeudd cuerisdl s ss®D
sl Geuamr(Hib”.

W Amartya Sen (B) Kindle Berger
SrsHwur Cee Samed Quigi
(C) Arthur Lewis (D) Samuelson
<2 TST grudlen gmpGeucvaen

(E) Answer not known -
clenL Qg flwalcrena

42. Amartya Sen an Indian economist who was awarded the Nobel Prize in
Economic Sciences for his contributions to welfare economics in the year
@pdw Qummerngry Blyewrt SiwisHur QearasiE Qunmernsry siMelwugisstar
Grruer ufle, peodaerisg Qummearnsmrsdpastar euflar  UkisallILESETS

&@T(H GUPBISILL L G).

(A) 1969 & 1998
(C) 1999 (D) 2000

(E) Answer not known
cdlen QsMwaeldene

43. Harrod — Domar economic growth model is for
angre(®-CLmod Qurmpernsny cuerisd wIHM eremLg

(A) Rational (B) Flexible
Qzafley Hlenew Qpdpss Hlenew

jd Steady State (D) Irregular
Blevoowrer cueridd Hlenew PursHn Hlevw

(E) Answer not known
edlen Gz Mwaeldenew

Economics 24



44.

45.

Various industries should be simultaneously promoted and they create
markets for each other this type of growth said to be

vCauny eems Qsmipsraesedr  eearissl CQuHDSTH SAeuTsHeT FarsEGmw
ShsMgmar 2 (haursdé QararLant. @bs eueTiéslsE

(A) Unbalanced growth M Balanced growth
FLWLHD CUETTES gwblened cueTiFs)

(C) Low level of growth (D) Steady growth
&dDHS Hlene cueTigs Hlevoowirer eueTiésl

(E) Answer not known
elen QgMwaeicvene

indices are closely linked to welfare functions representing
the value of society.
Bl QummeTrsrrsGCsTH 2 eTenmihg Fepsd Hev wHLILITES)

(A) Equality indices M Inequality indices
o _draTmiihg FwHlene gwblene @eers Hlene

(C) Common indices (D) Cost of living indices
Qurgleumen 2 dtaTmibg Hlenew aunpsmssrsHer GnuLhH Hlee

(E) Answer not known
cllen Qgilwaeilecreney
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46. Harrod — Domar model is a
angreo® CLmoi wrdlfl eremug

(A) Basic theory of Economic growth
cuenr&flullen oigqliuenLd Camium()

ﬁ( Neutral theory of Economic growth
aueriéludler pHHleved Camum®

(C) Positive theory of economic growth
auarisfludlesr Cpirwenps Camium@

(D) Negative theory of economic growth
cuenr&flullen erdlirerms Camium(

(E) Answer not known
alen Qg flwaidenew

47. The exogenous growth and endogenous growth theories are part of the
growth models.

Qeuaflumen cueni&dl wHHID 2 draTmihg euerids <y Hwer uGHCw
AGWD
(A) Neo—classical M Classical
Beier Qgrenenweundlser Qg memenLoeumdger
(C) Keynesian (D) Post—Keynesian
Safleflu cundlger Eeedl@ penGarmit

(E) Answer not known
cllenL Gsfweidrenaw
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48. Who formulated the studied Balanced growth strategy?
sLLaWLUIL FHM GUETTFS ASIGUPDDW aUESSeuT

(A) J.B. Say M Ragnar Nurkse
J.B. Gs TU&ET BiTde

(C) dJ.S.Mill (D) Marshall
J.S. Blé LOTTagE)

(E) Answer not known
clen Qgflwalcrena

49. TUnbalanced theory of growth was propounded by

&y euetiEdls Camiumiigeer (perwmObgeu — LG
(A) Singer (B) W.W. Rostow

A W.W. CrrevGLnm
(C) Kindle Berger M Hirschman

SaroCuisi aubl ireigs GLoeir

(E) Answer not known
clenL Qzflwalcrena

50. and have built models of steady state growth
with variable capital output ratio.
19 6breu (hHeuaTeu HMIGT Hlencowimen cuaTT&s) smyenfl&er Camium_ (e
QamLiTLen L wWeur&aT '
(A) Hicks, Kaldar (B) Ricardo, Malthus
al&ev, sreoLmi f&asrrGLm, wrosen
Solow, Swan (D) Robinson, John Robinson
GevrGeom, vaumer gmlenaen, Cegmerr qmilemgenn

(E) Answer not known
alen Qs fluaideana
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51. Keynesian theory is generally known as
Qurgieuns Semevallen Camum el @euaumn HeP&ESOMD

(A) New Household Economic Theory
ydw &S Qurmeflwe Casmumr@
W New Economics
HHw Qummerngmyd
(C) Behavioural Economics
BLSms QuUTHeTTSTrD

(D). Welfare Economics
Bl QummeTTsmyLD

(E) Answer not known
cllen QgMlwalevrena

52. Economic growth is normaly coupled with

Qumrpernsmy eueri&s erenug QuiDerswns asGCaTT(H @) emerThHEIeTerg) ?

(A) Deflation @ Inflation
LIGmTeu mL_L_LD LeTed&&LD
(C) Hyperinflation (D) Stagflation
o Wit ueTei&&LD Casa Hleveorls uemreissid

(E) Answer not known
eden GgMwaeidwene
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53.

o4.

55.

“Poverty is terrorism” — quoted by

“uniend pmeums SellTeurshd’ — erenm Qgmemeameuir

(A) Jawaharlal Nehru M Mahatma Gandhi
smeuamierd Grm LETSLT SMHE

(C) Mahalanobis (D) Amartya Sen
QuaaGarmiev 2wirgHur Gaen

(E) Answer not known
e Qgflwalcrena

The Small Industries Development Bank of India (SIDBI) was set up by
GOl in year )

@i <irered, ‘@pHu Ap@srfosdr eueniéd eumd (SIDBI) eaps <em®

Bmieuliuc L g
(A) 1948 (B) 1955
¢ 1990 (D) 1972

(E) Answer not known
e Qzflwalcrena

Which one of the following is/are not comes under Non-Banking
Financial Institutions?
Geeumd ereneu cumdlwdens B Hlneuarsder S eugmg ?

(A) 1IBI (B) UTI
@ SBI (D) LIC

(E) Answer not known
cllen Qgflwelerene

29 Economics
[Turn over



56. Non — banking financial Institution principle business is
aunidlwder flf flpeuariseaiien igriueL uaflwreuer

>

(B)
(©)
D)

(E)

Recelving deposits from the public under any scheme and lending
In any manner

QumgiwéseiiLb @HHg euliLsmer QUNISH WHMID SL 6T GULPMEIEHSEH
Receiving deposits from the enterprises under fixed scheme and
lending in non—business scheme

Bpeartsefl_®mbg Hoe eautiysaar Quim Qsmfld SidorauHdbaE
LG GULPMIGSHE)

Receiving Banks from the public of issue loans to govt.
QurgiwssaiiLbd @mbg Meuliysmer QUDY THES SL 6T GULPHIGHS®

Lending only for priority sector
(PSS DG @HEE) WL (DD &L GITeULDMISET

Answer not known
cdlen Qs Mwalcrene

57. Main objectives of RBI?
@pHw Mereu curudlufen pgemaw Crrésd wrg) ?

Vs

(B)
(©)
D)

(E)

Economics

To promote monetisation and monetary integration of the economy
uenr afitiy flifeursd whmbd, vemr wHLILY, ETré@seH

To buildup a sound and adequate banking and credit structure
aumndl uallsaer sflouy, ymes CuTgLIATSTS @) (HSSD, HL6T H(HSHD

To give a loan to agriculture sector
clleusmug i@ sL6r HHSED

To give a loan to industry sector
Qs giempé @ s 5B

Answer not known
eden Gz flwaeidene
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58. The objectives of Monetary policy is/are
vemredwed Qameatensuien CHIESRISET TemLg)

(1) Price Stability
cllener Flevwssemenio

(2) Economic Growth
Qummerrgmy euariFsl

(3) Exchange Rate Stability
SwanpTl(H QFgsg Hlene Fwblane

(4) Full employment
wp Couma Hlevew

(A) (1) only ' "(B) (2) and (3) only
(1) b Ew (2) wHmb (3) LW

(C) (3) only M (1), (2) (3) and (4) are correct
(3) bL_Ew 1), (2), (3) (4) siwarsgbd &M

(E) Answer not known
e Qgflwaelcrensy
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59. Mention the expansion of correct paired of the financial Institutions.
sflurer eflfleunsssHin@ Qeaeamurar HHHnaasms GHuALayb

1.  IFCI - Integrated Finance Corporation of India
IFCI - @pduneiler pmudmanss HS Hpieuerd

2. NABARD - National Bank for Agriculture and Rural Development
NABARD - afeusmund wpmb Smoviyp Guwur Gssrar Csflu eurid

3.  IDBI - Industrial Development Bank of India
IDBI - @odw Qamfe cuerizd eumid

4.  SIDBI — Secured Industries Development Bank of India

' SIDBI - Qg,gm urrgﬂa;rré;a;l;ll_;l'_l_ Qgmdsar @LD.LbI_IITI'_Q) QUi g

(A) 1 and 2 are correct % 2 and 3 are correct
1 wHmb 2 &fl 2 wHmIbd 3 &

(C) 3 and 4 are correct (D) 1 and 4 are correct
3 wHmIb 4 & 1 wHhmibd 4 &l

(E) Answer not known
eden Gz flweildena

60. “Full employment 1is the major objective of monetory policy”.
This statement was advocated by

“‘pu Caume aumnitiGu uarelud Qsramsuiar wedu Crréswrs o drarg” e
&(HSMS PRI WGeUT

(A) J.B. Clark M J M. Keynes
J.B. flarrig J.M. Eemen

(C) Wicksteed (D) Gustev Cassel
Nl&evte L @evLmeu Gage

(E) Answer not known
e Qgsflweicrenay
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61.

62.

Consider the following statements.
emeupHbd ursHwnisemer seueflu|miger.

Assertion [A] : RBI started its functioning from 1935.

adluynssd [A]  : 1935 Qo @migs RBI wigear Qswdun ars Qgrimdug
Reason [R] :  The RBI Act was passed in the year 1934.

sryenrd [R] : RBletiw 1934 <y <yaw® HlevpCeuppliuLgy.

(A) [A]1s true but [R] is false
[A] e amenw gemed [R] seumy

(B) [A]is false but [R] is true

[A] seumy e [R] 2 amenn’

(C) Both [A] and [R] are false
[A] oppid [R] @ranGi> soupy

M Both [A] and [R] are true and [R] is the correct explanation for [A]
[A] vomiw [R] 2amerw wpmw [R] ererug [A] $@ sflwrer eferssid

(E) Answer not known
e Gsflwelerenaw

The deposit multiplier depends upon the required reserve which is the
basis of credit creation. Symbolically, the required reserve ratio is

ety Qumsdl Czeveuwmenr @mueru QUIMSEH ST SLem 2 (HeunsssSHbamar,
Sl LiueLwrar @0luiLns @ muug

&) LB _ERRr 1 ®) 2 - R
RRr RRr D RR
o RrRr=2E D) D = —— x RR
D RRr
(E) Answer not known
e Qgflwaeldene
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63. The Commercial Banks create money by means of
auanfls eumidlsdr ersamer SigliumLwWTs Qarar®h ‘L 2 Husd Qeuidenmer

W Deposits (B) Loans
MU &S 6T &L_6hT

(C) Subsidies (D) Demand Drafts
wreflw Caslys snGemene

(E) Answer not known
clenL Qg flweldrena

64. Commercial Banks create money by means of deposit. These deposits are
called i ) )
cuanfls curIfladT LTSNS 2 (HeuTs@Geuams MeuLILGET eratHComD. @be eeuLiLger
W Primary and Derived
Wsd Hlevew LHMID 2 (HeuTsSlwg
(B) Primary and Secondary
Wse Hlevew wHMID @y _md Hlene
(C) Secondary and Derived
@uearLmib Hlene WwHMmD 2 (HeuTsdlweanou
(D) None of the above

@emeuger egbldene

(E) Answer not known
ellenL Qgflwaeilcrene
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65.

Choose the correct statements from the following with regard to the
transaction demand for money.

uansdparean uflauissmear Cosameu Qgriiurs Gereumeuareupdler Qmpbg sflwimer
sifsmasmwus Csibosh&Eseyb

Statement I :

Méms 1 :

Statement II :

sNées 11 :

According to Neo—Classical theory, transactions demand
for money is a proportional function of Income or
Expenditure.

HCGur  femflgser  Camiumiger  ug,  uawSSpHaTer
uflauisgamarseiien Csemeu eu@pLTaID deg Cawaliangder
Mlgramy QFweurLm@ib.

Baumol-Tobin model concludes that the optimum level
of transactions cash increases with the total value of
expenditure.

Baumol-Tobin wrdfwurerg uewr ufeuissmansailen 2 &bs
flavew Gsowelansdlen Quwrss wHuyrer wHsfadng eremm
Wye| Qswdpg.

(A) Both statements I and II are incorrect

@ran® dsmssend I wpmn I seupreang

(B) Statement I is correct and statement II is incorrect
fsams I sNwureng, sifsams 11 saupreg

W Both statements I and II are correct

sifsamsasdr I vpmn II sfwurerg

(D) Statement I is incorrect and statement II is correct
sMsms I saupreng, sifsems 11 eflwreng

(E) Answer not known
e Qgflweldene
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66. Velocity of Money is formula for
uansdlen Goussdnarar @

W

(B)

©

D)

(E)

Economics

GDP
Money Supply

GDP / uew QfGusssTD u@EEsLILEEDS

GDP
Demand for Money

GDP / uamgdpsrer Ceemeuwined eu@ssiiumdng

GNP
Money Supply

GNP / uaw 9fCwrsssTer au@sslIL@SnS

GNP
Demand for Money

GNP / uamgfpsrar Csmeuwnd euGssuu@Ens)

Answer not known
clenL Qg Mwelcrena
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67. Assertion [A] : Money solves the central problems of capitalist

68.

economy.

gapm [A] . wsoralsgieu Qurmartsrrsder ewwlréfmarsmar L

Si&dmg,).

Reason [R]: Supply and demand for goods and services are adjusted

through Price mechanism on the basis of the profit
motive.

smgead [R] : @Qaru Gprsssdanr gL we A@erpepsrar UTLRisET

whmid uerlsetien Coameu eafliiysamer sMQauSng

W Both [A] and [R] are true, and [R] is the correct explanation of [A]

B)

©

D)

(E)

[A] wpmbd [R] &M, Cugw [R], [A] ssrer sflwrar elargsw

Both [A] and [R] are true, but [R] is not the correct explanation of
[A]

[A] womb [R] 8, spemmed [R], [A] ssman sflwnar elatésin e
[A] is true but [R] is false

[A] &fl, gyammed [R] seumy

[A] is false, [R] 1s true

[A] seum, emmed[R] &M

Answer not known
clenL Qgflwalcrena

The Chicago Version of Quantity Theory of Money is propounded by
QTM @en SanrGar wAHUY wrprd wer@umhutiuLg).

(A)

(©)

(E)

Tobin (B) Samuelson

GumYles anpGeudaen

Frazer M Milton Friedman
NS -0 WedLeir sulllenyl_Goedr
Answer not known

e Qsflwaldvene
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69. The formula for supply of money is
vent Sefluy updlu s rn

YO M=D+C B) M=D-C
() M=H D) M=P

(E) Answer not known
aflen Gz Mwaeidena

70. James Tobin describes —————— types of investors.
Ggwev CLmllen cuanFumILIUg —————— GUESWITET (PSEOL L TETI&ET
@A) 1 (B) 2

VB ' D) 4

(E) Answer not known
e QsRwelerenew

71. The Quantity theory of money explains as it ‘were, the average level of
the sea, the saving and investment theory explains the violence of the
tides, state the remark of an Economist
uangdlen etey Camiurnh edearsasde, tiugCu, sLdear srref Haw, Csbluy
LOHNL WS B GCariumiyd smosaida eeapopawu laéE&Hng, eTemm
smésevear seflss QurmerTsmy eudgyerit

(A) A.Hansen % G. Crowther
A. aprenQgeir G. &Qrerg

(C) P.R. Brahmanad (D) D.M. Mithani
P.R. Qygvwrenbs D.M. Wgref

(E) Answer not known
e QgMlwelerenew
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72.

73.

The assumptions of Fishers Quantity theory of money is
Slllagim Lar Sereil (& Camumigen erhGamen

M Price level is passive factor  (B) Price level is active level
eflened Seme| WwHS Hlenaudley cllena yemey QFweourt (b Hleve

(C) Price level is dynamic factor (D) Price level is progressive factor
cleney 3ieTe| Qwss Hlane llenev yeTey eueTigsl Hlenew

(E) Answer not known
e Qzfwelcrana

In Fisher’s equation PT =MV + M' V', ‘M’ refers to
Seigfler swearumye PT =MV + M' V', @dla ‘M earatugy ereng @Dé@b 2
(A) Total quantity of credit money
sLen uansSler Qs ieTe]
M Total quantity of legal tender money
glLlyfieu QuerrLfen Qomss emey
(C) Total quantity of demand deposits
Cgeneu eneulilsaflen QwTEs emey
(D) Total quantity of goods and services
QummLger wHmbd Cameusafien QLTSS ieTa]

(E) Answer not known
clenL Qzflwaelceney
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74. On 16th March 1999, the Govt. of India listed strategic public sectors,
except

rTE 161 BIET, 1999-geawh @hHu  SipE  auegupss CQurgsgieon
Ws&HwsHuwTiBs Hneuamseier, Wereumn reneu @L bQupaldeme.

(A) Arms and Ammunitions (B) Atomic Energy
@ rTamiey SaTeUML_kISET @ HMED

(C) Railway Transport M Telecommunication
@ruiled Curs@eursg Qzreneg@gmLiry

(E) Answer not known
e Qsflwalcrena

75. Industrial licensing policy abolished in the year
Qzmfléd Qsrms 2 Mwb uPEIEGL L paD oThs waThH esaill Ll L g ?

(A) 1990 (B) 1996
@ 1991 (D) 2000

(E) Answer not known
v Qsflweldene
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76. Match the following :
Qereumeuaraupenmit QumbhSgis

(a) National Agricultural Policy 1. 2004
Csflw Couermaim QameTans 2004
(b) Marine Fishing Policy 2. 1977
sL ey Qametens 1977
(¢) New Foreign Trade Policy 3. 2000
yHw uererm(h euisss Csmerens 2000
(d) 7th Finance Commission 4. 2002
7eugl HE W 2002

@ m (@© @
@A 2 1 3
(B) 4 3 1
C) 1 4 2

3 1 4

(E) Answer not known
cllenL Qzflwailerenc

MO O DO S
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77. Which of the following statements is true about the solution to the
problem of poverty?

aumieno gFsenans@ensanan Sreyser upd Gereumbd amppiseild erg o @meno?

(1) Distimulating agricultural growth
elleusmu eueTiESlanwS GNERTLMSSHTED

(2) Empowering of the poor through education and skill formation
&6l wHMIb FHDeT 2 (HEUTESHD PP TS EHEE U sTrwailsseh

(3) Increasing the productivity and job quality of unorganised sector
Si@wuysmyr geppuler 2 HusHsdmer wHmib Coumasisms dsssan

(A) (1) only . (B) (1) and (3) only

(1) v (1) wHmw (3) wLEL
(C) (1) and (2) only p{ (2) and (3) only

(1) wpgud (2) LB (2) wpmud (3) LLEW

(E) Answer not known
e Qg flwelcrena
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78.

Choose the right answer among the type: Which among the following
is /are the components of the Green Revolution?

QarpHssiu_pHeaeraeisaid sllurar eLamwu Csiey GQeswus. YWeremeuareubdle
ugew Yrldlufer Qeuatliumigen samiseT o eTere.

1. The HYV seeds

2485 WEGHOLFHD Famise (HYV)
2.  The Irrigation

B urgaTd

3. Chemical fertilisers
@rsTwUeT 2 [R&ET

(A) 1-and 2 only : (B) 1 and 3 only

1 wHMID 2 WL (LD 1 woHmb 3 WL (HID
M 1, 2 and 3 only (D) 3 only

1, 2 wHMID 3 WL (HID 3 L (Hb

(E) Answer not known
cllenL Qzflweidwene
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79. Assertion [A] : Green Revolution did not cover pulses.

sgapm [A] : uG&MLUILAWTD L@GLUIL UMESE LaeLwWellihene.

Reason [R] : Pulses do not require large doses of fertilisers and
pesticides.

sryewrd [R] : LU@BLIY euamasseilen 2 HusdHéE Hsliugunear 2 Jrse whmib

L& &Qarieisdr Cosamaeuuldane

(A) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

[A] womib [R] 8, epenmed [R], [A] saren sflwnen edlarésid oica
(B) [A]is false, [R] is true
[A] seup. [R]sf
Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpmd [R] &M, Coaub [R], [A] serar sflwrer elenssid.
(D) [A] 1s true, but [R] is false
[A] el gemmed [R] seum

(E) Answer not known
cllenL QzMlwaelcrena
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80. The term ‘HYVP’ in new Agriculture strategy stands for

81.

yow eusrw 2 Al HYVP eremm Qandd erang @hlsdng.
(A) High yielding variety pesticides
& WEG:D FHL OGN YFHEGsETLs6T
(B) High yielding volume production
& LEGHD S@HD S6Te| 2 HuSS)
W High yielding varieties programme
& LEGHD HHd LOGeum FHiL b
(D) High yielding volume programme
9F& WEGHD SMHD HeTe| S ib

(E) " Answer not known
cen QsMwaeldwene

What is the contribution of agriculture to the national income of India
during the period of 2014—-15? |

2014-15 ey @QpHu CsHlw eumwrarsdd Couermamreny genpuden LIkiS,
GT 6T 6T ?

M 14% (B) 15%
(C) 16% (D) 18%

(E) Answer not known
fer Gz flweildenaw
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82. Which one of the following is not come under rights of workers as per
Government of India?
@Qpdwu @irs Agmemeariseaflen 2 faw Ul weld GLbEuprs 2 Mew g ?

(A) Right to work of one’s choice
safwalls llHuu Coueme 2 Menw

(B) Right to participation in management
Blireursgsgled umGsnH@n 2 Mew

(C) Right to Collective Bargaining

g l_(HuGur 2_Mew

M Right to Bonus

serég ool 2 fenw

(E) Answer not known
cllenL QgMlweildeney

83. The share of agricultural workers in the unorganised sector

percent.

Qurss Awwiystgr Gsmfldsaie Ceuerran Qgmflereriseiier Lkis,
F54HLD 2, &LD.

M 61.4% (B) 99.3%

) 62.7% (D) 83.5%

(E) Answer not known
allenL Qgflweidena
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84. The Nehru Rozgar Yojana was launched for the benefit of the

Crm Ceuameaumiitily SL b WmHdLW BeTe&EsETs QT kmsliul L g

M Urban Poor (B) Rural poor
BETLD TenLp Syroyn g

(C) Common people (D) Middle class people
Qunrg w&ger BHSST DESET

(E)

Answer not known
eden. GsMwefdene

85. Population growth rate projection in the year 2021-25 is
2021-25@  w&sET  Cgmens  euertddl e  sewfluy  Spssemeurm)
Blirerulssiu_(heTerg. ’ ’ ’

(A)
(©)
(E)

1.1 B) 1.3

1.6 pf 0.9

Answer not known
cdlenL QzfMwelcrena

86. In 1999-2000 there were 260 million poor in India, from this

percent of poor were shared by UP, MP, Orissa, Bihar and Maharastra.
1999-2000-1b Yamge Qwrss gewser 260 Wodalwer @bHwumeler @(wmHSETIT.

Qaphler ——  sseldlgd  Sari, wsHuUGATCsand, 2587 ACsebd, qfler
WLOHDID WD TTTeHFTeSH6

&7 634 (B) 65.0

(©) 60.0 (D) 70.0

(E)

Answer not known
elen Gz Mwaeidvena
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87. Poverty Gap is
aumien @enL_Geuaefl eremuig

(B)

(©

)

(E)

Economics

The difference between poverty line and actual income levels of all
those living below that line.

aumienn Camiiyh@ &6 eumpCeurfen au@mLITSHHEGL 2 @TemD Gu(HLOTET
Hlevavs@wrer Coumum

Gap between the richer and poorer

LTSS TTTSHER&EGD TampsEns@h @ Cu 2 der Qe Geuafl

Gap between the developed nation and developing nation

QUGBS BTHSEHSEGD, cuatidlemn BrH&@Eh&Ew 2 6rer @eanL_Gaeuefl

Gap in infrastructural facilities between developed and developing
nations.

cueTihs  BrHSERS@GWD, eueridlarn  BrHsER&EGD QoL Cu 2 éter

2 arslLenwlien @enL Geuafl

Answer not known
cllenL @z flwelcrenc
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88.

89.

Match List I with List II and select your answer using the codes given
below :

utgwe I g utgwe II o6 Qur@sd, ECp Qsr@ssuul_(Heter @GDluihsemerii
vweruBhsd 2 rser ulmas CarbsHEsa .

List I List IT
ulguwe I ugwed IT
(a) PMRY 1. 1999
(b) IGSY 2. 1994
(c) PMGY 3. 1993
(d) DRIP 4. 2000

.o@ ® © @
“«s 1 4 2
B) 1 3 2 4
© 2 4 1 3
D) 4 2 3 1
(E) Answer not known
elenL Qgflwaicrency

As per the Human Development report 2007-2008 India has been

categorised as a —————— Human Development Country.
2007-2008 wafls et WerCarhm Plsmsller @QBHUT ——— TSI
Qupmererg).
(A) Normal (B) Low
MG MFERTLD (HMDGU TS
I Medium (D) High
BHblenewimenr LA =)

(E) Answer not known
ev Qgflwaeldene
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90. The indicators that are used in the Human Development Index [HDI]
are,

wefls euetisd @Muitye [HDI] @hulpsarms vwaru@ssuu@eus
L. Standard of living
AUTDE®ES STLD
II.  Education
seve
III. Life expectancy
QUTPBTET &TeLD
IV. Conditions of environment
&HMIEGD Hlavovenosger

Choose the correct answer
sflwren cllen_anw Csiib0sHESe b

(A) L IIandIV %I, II and III
L II wppw IV L IT womw 111
(C) TandII (D) IT and III
I wpmw 1T IT whmb 11T

(E) Answer not known
aden GsMwelerene

91. Which type of scale is followed by all countries to estimate Human
Development Index (HDI)?
waflg CubuTL@ GOl oL sarsdaushE aoor prhsalan Gaupn &nigw
3|6Te]

(A) 0-5 (B) 0-3

M 0-1 (D) 0-10

(E) Answer not known
adlerL GsMwelerene
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92.

93.

With the help of NSS data incidence of poverty for the period 1970-71 to

1987-88 was studied by

Csdlw wLIAN sarsasdHUy eumiers 1970-71 PFD 1987-88 eueny eumieoudlen
Hlevay @eufigermed jemeldl Ll Lg).

% B.S. Minhas, L.R. Jain and S.D. Tendulkar.
B.S. Wearanrev, L.R. Qguier wpmw S.D. Quanhost

(B) S.D. Tendulkar, L.R. Jain and Amertya Sen.
S.D. QLawr@esi, L.R. Qsuier wpmbd Siwidu Geer

(C) B.S. Mihas, and L.R. Jain
B.S. Weranmrev whmid L.R. Qsgufier

" (D) None of the above

@eurrger wm(mLSlene

(E) Answer not known
aen @z flweildene

HDI Varies between 0.790 for kerala and 0.362 in 2008, kerala can be

Ranked as a HDI State orissa and Bihar can be Ranked as a
HDI.

wefls euar @NuiG 200860 Caremmeiier 0.790 eTaTEyI, gfilureilées 0.362 ereirm
@Qmuusted Csyarmeney ———— eTareyb FgRlwrmey ———— wafllgeuer @GDuIGH
Qaram_emey eTa SiMWP&ESLILHEDS).
(A) High and Low (f Medium and Low

<& LHMD GHdDey BhHHleme wHnb Ganey
(C) High and Medium (D) None of the above

P& wHnId BHB® @ aouser ergiullebenay

(E) Answer not known
een GsMwefcene
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94. The behavioural model of Cyert and March founded from

case studies and labouratory experimental studies.
mewl wHmb wri&flar  pLwgs wIHH ———  safl @ uddwu
660 (b G LD _— < LIS Cergeaner < 1el Sl (HHgID
samH Uy ssliLc L g,).
(A) 2and4 # 4and2

2 LHYID 4 4 LHMID 2
(C) 3and4 (D) 4 and 3

3 wHmb 4 4 LHMWD 3

(E) Answer not known
eflen QgMweldena

95. Who Introduced the concept of “Bounded rationality”?
“Geramrssuiul L u@sshey” aeann &mE®s ANWSUILHSS weur

(A) Cyert M Simon
MEFWITL EHEFLD G

(C) March (D) Neumann
LOTTE HluyQoesr

(E) Answer not known
eden QgMwelerenew

96. A Situation in which one party to a transaction knows a material fact
that other party does not is called

e® uflarssmandea @m srudeart wHQnrm srudarmes OsNurs em Wodw
2 @ewaw NG HSEGD G bl

(A) Adverse Selection (B) Symmetric Information
ungss Csirey FOFET SHCUED

M Asymmetric Information (D) Full Knowledge
FWEETHD SHEUD W dey

(E) Answer not known
edlen QsMwelerene
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97.

98.

“I believe that sales maximisation is management’s objective in the long
run as well as in the short run”-Quoated by

“prem pUACDer elpumer fafliy 2 ssflae earug Hieursgdlar Cpréswns
SamLsrasdaibd wHmb GnHw sresdan QrsEL” Qs gfelssm.

(A) Rosenberg Q( Baumol
Crregenuid Quarmed
(C) Dusenberry (D) Robinson
g6 L grleae

(E) Answer not known
Mev Qs flweiidvene

According to Baumol, Management of — firms try to maximise
their sales.
QuerGumeller g bmiliLig Hpeuariseier Cuoraren eAbumearamw
P sMés WPwOEDS).
(A) Monopoly M Oligopoly

wphHoifenn S pHmfeno
(C) Duopoly (D) Perfect competitive

Brws popopflas Hlevpeys Gumig.

(E) Answer not known
Mev Qs flwaeildeme
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99. Neumann-Morgenstern utility index focuses on
Bl oer-Gomi@egensv@ e uweauT. & GNuilyd Crrésliu@ous

gp’ Individuals

SNUIULL BUTSET

(B) Pair of Persons
Cegrmig seit

(C)  Group of Persons
G (P&&6T

(D) Only individual income earners
Sl euheumis FL(Hlueufr L (YD

(E) Answer not known
eden Qgsflweledrene
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100. Match the following :

QummsE s
List-I List-II
Ul gwe-I uiqued-I1
(a) Marginal Utility Theory 1. Hicks
@ndbleame uwerurt (hé Camum abl e
(b) Indifference curve 2. Newmann Morgenstern
FCHTEHSE, cuamer&CaT(H Bluy e wrir@semavL e
(c) Revealed Preference Theory 3. Samuelson
Qeueflupmgsriuc L lwHrusg Camum@ smpCoudge
(d) Statistical utility Theory 4. Alfred Marshall
yerafludwe vwerum_Hé Camum() <OUTL WriTase
(e) Revised Theory of Demand 5 Hicks and Allen
Hmssuu L Cgameu Camium( abl&en WHMID <6

@ ® © @ @
A 4 2 3
B) 4 1 2
w4 5 3
D) 4 1 3

(E) Answer not known
e QsMwalerenew

N DN Tt O
O = W~
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101. In Friedman-savage hypothesis the total Utility curve has

Segments.
Solleng Cuenr - #1Geugy smgCamafler Gorgsly vweuT (B euameaTCarLTarg)
Wfleysener 2 anLwg
W Three (B) Two
ePTD) ObLuC
(C) Four (D) Five
BrenG BhHI!

(E) Answer not known
cllenL Qgflweilcrene

102. The law of Demand related to the
Cganeu lld erenmuigy ——— QgTLifyenLwig)

(A) Quantity and marginal utility in Rupees and Price.

Qummer jerey  WLLEWL, 2§FuUls vweaTUT HLEbd eleeuL b
QsmifyenLwg)

(B) Quantity and market price
Qummer SjaTey WHMID FHang ellena

M Price of a good and its quantity demanded
QungpLsafer elevew LHMD SHeupder Coameu aTCeaurd GgTL LML WS

(D) Multiple commodity cause
U QurmeTseT Fhansuiler @EHLUILINS MeUSF

(E) Answer not known
e QgMwalcrene
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103. Demand of a consumer for a product is influenced by
@@ Qurepssrar BsTGaunfler Cgameuamw grambueme
1. Price of that product
9ips Qummetlen ellepa

2. Price of related products
QsruiyenLw Qumrpaien elleen

3. Level of income of the consumers
m&iGaunflen cumwrer Hlene

4. Level of expenditure of the consumers
ms&iGaurfler Qewe] Hlavew

(A) only 1 and 3 are true’
1 whHmb 3 LD &l

(B) only 2 and 4 are true
2 Oy 4 wLHw &

(C) Only 2 and 3 are true
2 wHmib 3 LWL Hw &

QB( All the above are true

GuCe 2 drer Dmarsgid &l

(E) Answer not known
Mev Qs flweiidere

57 Economics
[Turn over



104. The term “Scale of preferences” is implicit in
“elpuuniseien watey” eren Qamdelen 2 eraTL&sLOTaTS)
(A) Cardinal utility theory
QuieCuer vweTur Hé Csrum()

M Indifference curve theory

swCpreEE uanerey Camum()
(C) Revealed preference theory
afluu Qeueflliu@ssuuc L Gerum(
(D) Linear expenditure system
Crilwe Qe e

(E) -Answer not known
ellen QgfNwedene

105. The Revealed preference Theory deduces the inverse price quantity

relationship from
dlwuus Gsfle; Gariur® eHoe whpnd Qurmeiar sarelpda Gu o drer
g@wodp Gsriemu eumeliiug)

M The revealed preference axiomy
aflpuu Qsfley Camiumiyer QuwiisCsmeasefd JOTUIES,

(B) Postulate of Utility maximization
vweTur e 2 FsLLphSgIb er(hCamer

(C) behaviour of the consumer
misTGeurflen BLSams

(D) IC and it’s assumptions
F0CHTEE cuaaGari (b smadar orHCamaradr

(E) Answer not known
eilen QgMweldana
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106. When indifference curve is L shaped the two goods will be
swCET&@E auametCarh L cugelld Qmé@n Qumyps @rear® QurmLsesn
M Perfect substitute goods

sflwrar LA (H QurEBLGeTTs @)([HEEGD
(B) Substitute goods

S @ QurLsarns @)m&@&HWD
(C) Perfect complementary goods

sflwrer Bl QurmLseTTs @ me @D
(D) Complementary goods

Bt QurpLsearns @) md@&WD

(E) Answer not known
cten Qgflweiidene

107. The Book that gave the concept of Indifference curve Published by Hicks
in the year 1939 was

1939 swCréE amatCsrh eain &HSMS afldsy ——— US55 D
QeuafluQ_Lmir.
(A) Labour and Capital M Value and Capital
2 @puL wHmID WSSO ALY wHHID PSSH
(C) Land and Capital (D) Interest and Capital
Hlab wHpid Psso ey wHID WsaSH

(E) Answer not known
eflen QgRweildena
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108. In the following statement which statement is correct? Suppose there are
three goods all are preferred to either to new is known as
HQemeumpd M&smauier, earhs gapm sllurarg? gCsayd eaperm Gummsaetled
DDESFID WDHOEEUSHE, FFLTES 6Hl(HOULILILLTD g
(1) constant
Hleneowirerg
(11) transitivity
wpenaw Qgriss
(111) intransitivity

Qe allLTg semenio
(A) (1) only correct M (1) only correct
(D) v sfwurearg (11) v P sNwrag
(C) (i11) only correct (D) (1) and (111) correct
(111) w Hw sNwrerg (1) wpmw (111) eNwreng

(E) Answer not known
cllenL Qg flwalcrena

109. In Constant Elasticity of Substitution (CES) Production function, the
elasticity of Substitution is
Bevowrar ufd B ApHPFH 2 Husd ermler uHSLBH QBRSPS

DhLGLD.
(A) Unity (B) Zero
Qe C Ugshuib
(C) Negative Constant
adlifwery - Hlevawrearg () WwIHTSg

(E) Answer not known
edlen Qgflweldene
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110. Choose the right Answer:

111.

sflurer eflewLemw Csiey Qs
Revealed preference theory was propounded by

Qauefliu@ssriu L edlmLiL Camrum( e SIGUTGETTED
wer@urBuiiuLg
A) J.S.Mill (B) Adam Smith
J.S. B TR
W Paul Samuelson (D) T.R. Malthus
umed smapGeudga T.R. wrégev

(E) Answer not known
cllenL QzMwalcrena

Samuelson’s Demand theorem is superior because

srpGeaudsar-aflar Cemes Camurh agarmed Guerut g ?

(A) The consumer behaves rationally to maximise his satisfaction
2fsules varflepames dup FIsTCauNT LEGSsHeer deuduppmi

M It Completely dispenses with the assumption that the consumer
always maximise his satisfaction

m&sTCaurt erCGurgib sargy HmudHow fstiubhssdn S@LIASHS Qg
eoiigid aleaseinsg)

(C) The consumer can have any combination of 2 goods
BaTCeunt @peaw® QurpLseiien gCaseb @ Soameuemw HISTSHDMT

(D) It involves psychological introspective information about the
behaviour of the consumer
@@ BIsTGeurfen 2 daremmihg 2 eTellwed FTihs HLeulysamasamul 2 aTeTL S&Hlwg.

(E) Answer not known
clenL Qg flwelcrena
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112. The Revealed preference theory is based on
Qeuafiiu@ssriuc L. epuus Csieys GCarium(
QameiTLg.

(A) Cardinal measurement of utility
GTETERTeTay LwWeTUm_ () <emel(H

% Ordinal measurement of utility
sreuflens LweTur® SieralihH

(C) Observed consumer behaviour
2 HmICHETEE msTCeurt pLSms
(D) Weak ordering

uoeiarwrer auflersliubh g

(E) Answer not known
cllenL Qg flwalcrene
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113. Match the following

Qummsg &
List I List II
ulgue I utgwed II
(a) Kinked Demand curve 1. Bergson Samuelson
Hwuupdn Caameu Cam( Quitsgen srpCoudae
(b) Duopoly Model 2. Paul M.Sweezy
@ maui wpHmfleno LImed 6rLd.6u6I&l
(¢) Managerial theory of firm 3.  Augustin Cournot
Coereamew Hlneuear Carum( SISV 6 SITETTL
(d) Social Welfare function 4.  William Boumol
FWPSTW pouewt . . cfldallwn Gumoe

@ b (© (@
w2 3 4 1
® 2 3 1 4
© 3 2 4 1
M1 2 3 4

(E) Answer not known
e Qsflwalerenaw
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114. The most notable feature of economic depression is
Qummerngry wpsHlaouier GNUAL$566 DD
% Decline in production and employment
2 puss wHmb Ceuameeumuliy G®mnSe
(B) Decline in demand
Coameu Gammsed
(C) Decline in Supply
<eflligs Gonsd
(D) Decline in investment
CERICRCT LY

. (E) Answer not known
clenL Qzsfwaferena

115. The phenomenon of cyclical and 1s business
cycle.
auailssapnsl eretug Qe @rarmgh@h @ Cu poLCumneg <EW.
(A) Prosperity and recovery M Boom and depression
Qe iy wHmb B8 Qeliiy wHmd Geralpssd
(C) Recovery and recession (D) Recession and peak
BLé wHmb wHsHme whsHleme wHmD Qadiy

(E) Answer not known
clenL Qg flwelerena
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116. According to Hawtrey can not continue Limitlessly.

117.

118.

Qamery. Gy euanflasonfluder @g wpyeldvor QsTLgrs QMmssns aerdmmir.

(A) Recovery ﬁ( Prosperity
By Qe iy

(C) Recession (D) Depression
wHSH e Werafl péad

(E) Answer not known
ellenL Qzflweildwene

1s not an instrument of Fiscal policy.
ararug) flflsGararamsuien &mell @dame

W Full employment (B) Taxation
w1 Ceuamaeumiiiy auifl ey

(C) Public borrowing (D) Public expenditure
Qurg SL6T UGS QurgsQgaay

(E) Answer not known
elenL Qgflweildene

Placing a tax on foreign imports is known as
Qeuefipr@aseia(BBHg @nés@wd Qeuwtu@n Qurmlseilar Bg NHssuGHD
auflurerg —————— SiMWssLILBHFDS

(A) Quota (B) Penalty
@650 FnUYs SLLawTD
Tariff (D) Goods and services Tax
&mg eufl Qumr@mer womb Csemeu cul

(E) Answer not known
e Qsflwueicrensy
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119. It domestic saving exceeds investments, its net exports will be positive is

called as
2 aTETL(h Gslluy apseliev. el ofswrseyw, ghmwd Coriwpswns @QmbsTd
WG ———————— 6TAE FaDHOMD
(A) Trade deficit (B) Balanced trade
udHDIEEG®D euenilsLd FOLMET GUaTGLD
(2( Trade surplus (D) Zero trade
2 ufl euanflgd Lol cuanflsid

(E) Answer not known
eden Gz flweNdene

120. Short-run fluctuations in exchahge rates can be corrected by
uflompp  N8ssdler  ghubd  GnAu  sTe  LIHPRSMET el
PoPUUBHSSOTD ?

(A) Increase/ decrease in exports
ghpwdew Gmprug /sHshiiug

(B) Increase/ decrease in imports
@nsEwiowu Gmprug/sidsiiug

12( Supplying or absorbing country’s foreign exchange services
SipHlu Qeomreuard @Qm@wuenu G@mpliug/sdsfuug

(D) Framing new policy
ydw Qamatersamw eu@Lliug

(E) Answer not known
eden Gsflwelerenew
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121. Match correctly the relation between business cycle and profit.
auails spHfls@n QarusdbEn @arulorear 2 pelemer sflwrsy Qummsss.

122.

List I List II
ulgwe I utiqwe 11
(a) Recession 1. Negative
wHS Hleve Grélmenm
(b) Boom 2. Positive
THOD Crirwenn
(¢) Recovery 3. Highest level
By & 2 wihs Hlene
(d) Depression 4. Low level
GS®ODAUTST S(PSFLD G®DHS Hlew

@ G @©
A) 3 4 1 2

B 1

(D) 1
(E)

3 2

4
4 3 2 1
4

2 3

Answer not known
clenL QgMwaeiceney

¢ =bY isthe consumption function.
c=bY aenm maitey sweTUTH WTHEL WIS ?

(A)

©

(E)

Keynes (B) Duesenberry
Serav g wFer@uirdl
Friedman M Kuznets
SAEHQwer (&6VBLG

Answer not known
den @z flwaeildena
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123.

proposed the ‘Q’ theory of investment.

‘Q Camlun® wrymed wer@wmhuiiucLg?

A)

wr

(E)

Kuznets (B) Fisher
GLpL6 Sol g
James Tobin (D) Kaldor
Cggev CLmQesr STOLIT

Answer not known
aden Qs flweidene

124. Identify the external sources of funds for a firm.
@ Bngeuarsden Qeualliuyn HHwurs Geauphléd aamss smsaTb?

©

(E)

Shares : (B) Profit

BimeuengSlen Liki@sar @emrub

Taxes (D) Depreciation allowances
cuflsar Cswiwren sle|sar

Answer not known
e Qs fNweilérenew

125. Given wage is greater than the market wage paid by a firm is known as
Qer@ssuul L smalunarg shos smalow &AL fswrelmulea  isns,

(A)

o

(E)

Economics

erem Guwi.

Minimum wage (B) Maximum wage
GSODHSULEF F06d SHsuls el
Efficiency wage (D) Monthly wage
Smen g6l DTS Fnedl

Answer not known
e QgfNwaeledrene
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126. The actual unemployment rate is below the natural rate of

unemployment it would be expected that
o g CaumeWeaaw alfsn, @uipmsurer Geaumaaumitdeamy Mfssms
L @opeurs @@m&s@n Curgl, ediumissiubeug).

M The rate of inflation would increase
uanrei&ss 6Nl 2 wireib

(B) Wage would fall

F.&ET (GEDUITLD

(C) Natural rate unemployment fall
@upeswrear Ceuamaeumilideran &®na]

(D) Demand for goods and service fall
LGRTLAIGET whmitb uals@Epsstar Csamael GemuLd

(E) Answer not known
clen QsMwelcwene
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127. Choose the right matches for the following.
SpaTaTUamaels@heT eTeney FMlwres QuTmbS W eTersy.

1. Nominal interest rate — Stated interest rate on loan
Quuigeatey eul iy &0 ELGTS@HESTET (PaDWTET cul_lg eNflsLbd
2. Real variable — Nominal interest — Inflation rate
2 @ rhled Quuyere] eul iy Mg — LaTeissD
3. Real interest rate — Nominal variable / Price index x 100
2 @ed ULl eqdlSLd Quuwryerey wrhlel/elee @GMuir Qe X 100
4. Nominal variable —  Economic variables calculated in
current price
Quwgerey wrmHed Qurmerngmy wrMelsemer <eTemmW
efleaudler samrsdlhHeug
(A) (1) and (2) are correct M (1) and (4) are correct
(1) wpmibd (2) sAwreng (1) wpmw(4) sAwrerg
(C) (2) and (3) are correct (D) (2) and (4) are correct
(2) womid (3) sNwrang (2) v (4) sNwrearg

(E) Answer not known
alenL Qgflwaeferena

128. Identify the primary commodities included in the construction of WPI
Qursseilma GO AL samsdHeausnE wsamnw QuTmeTTs SpaaT_oubBled
ag aT(hSss arareriiLHng) 2

(A) Manufactured goods
QurdQguws Qummarser
M Food, non-food and minerals
2 awrey, 2 arellevem wHmbd saflsgrgt QummeTser
(C) Fuel and power
erl@urmer wHmibd Wensmybd
(D) Light and lubricants
elend @ EeT WHmID 2 w6y ere@arTiiseT

(E) Answer not known
ellenL Qg flwelerene
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129. The value added method to calculating National Income is called as

LY emlLtulL wepulear epewns Caslu eumeumi GTebT )
DDPEEIUHE D).
M Product Method (B) Income Method
2 Husd ey QUBLOTET (PED
(C) Expenditure method (D) Pricing method
Qsvey pem aflena (perm

(E) Answer not known
cler Qsflwelcrene

130. The Great depression was occurred in Indian Economy in
T @bdwl Qurmettsrysdd Qumb WwhsHlee FHULL HETH

@ 1930 (B) 1940’
©) 1920 (D) 1960’

(E) Answer not known
clenL Qg Mwelcrend

131. All government expenditure in the circular flow of 3 sector economy is
et gon QurmeTTsTysHd eumLIaTESen Ul QUL JAMATSH HTEMhS
Oeealleanris@mnhLd
M Withdrawal from the circular flow

ol L @ULsHmpg Hmbu Gumisd
(B) Injections into the circular flow
Ul L @UL g 2afl () 2 Ceqissise
(C) Withdrawal from the foreign exchange
<pHlu Qeereuafudelmbg Smwu Qunse
(D) Injections into the foreign exchange
pHlw Qeomeuanfluie 2aél (=) 2 I Qeqsgise

(E) Answer not known
e Qgflweldene

71 Economics
[Turn over



132. For a country with the value of Nominal GNP = Rs. 55,04,200 and the
real GNP 1s Rs. 39,98,240, calculate the GNP deflator.

em Brigd, Quugerey GNP @.55,04,200 whmw o &rewvwrear GNP
5.39,98,240 arafled, GNP g uiGari_Leny samsdiiser.

(A)  63.72 (B) 72.63
(C) 136.76 M 137.67

(E) Answer not known
adlen QgMwaldene

133. Net National Income excludes
Bler Cadlw aumwransfamig g wsstLEEDS ?
(A) Indirect business taxes
DS cuanilas eu
(B) Direct business taxes
Crirps cuanils eufl

(C) The rental value of owner occupied houses
Qemhs ey Harear eurLans Wiy (umfib)

ﬁy Depreciation

Csuwiwrears Gewey

(E) Answer not known
edlen QgMweldena
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134. In an open Economy GDP is the sum of
Anps Qurmentgrrsdéd GDP erarug

(A)

(B)

(©)

o

(E)

Consumption, gross investment, Government spending and gross
export

B&Te), Qwrss WsSH, ATHenr QFwea) LHMID QLTSS FHHILS
Consumption, net investment, government spending and net
export

msiey, Hay psad®, siréfler Qsway, wHMD Hl&T ghHmiwd

Wage, Rent, Interest, Profit and depreciation

Faed, UMD, eully, @emud wHm Caulnmerd

Consumption, gross investment, Government spending and net
export . .

ms&ie), Qurss WsH, sirélar Qema| LHMID Hay gHmS

Answer not known

elenL Qg flwalcrene
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135. Assertion [A] : Determining what is final and what is not causing the

problem of double counting in National Income.

spm [A] : GCsflu aumwransde orgl @miwnerg LOML eTE GrenL
sas&(H Wrssmaraw gHUOSSTS ?

Reason [R] . Evaluation of Non-marketed goods and services.

sryend [R] D spevguiliuuLng Quirgplser wHmib uamismen LHULKAHSE

o

(B)

(©)

(D)

(E)

[A] is true and [R] also true

[A] &M wOmib [R] &

Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpmiw [R] @ream@w ef; [R] eremug [A] @en sflwrar eferssiwomsgn
[A] is false [R] is true

[A]l saup wpmio [R] &f

Both [A] and [R] are true but[R] is not the correct explanation of
[A] is correct

[A] wpmid [R] @ranpw ef; syarmed [R] erarug [A] @er sfwnen eferéaid
DLV

Answer not known

adlen Gz flweldene

136. Which of the following organisation calculate GDP in India?
Gemaumb  swuyselld g @QbdHureder Qurss o a2 HusHew
sansSHEH g ?

(B)

©
(D)

(E)

Economics

National Statistical Organisation

Coslw yermafluwe ey

Ministry of commerce and Industry
auaflseflwd wHmb QAsmidgimn Hmwessbd
Indian Statistical Institute

@pdw yearaflulwed Hlmeuad

Reserve Bank of India

@udwu flarey cumd

Answer not known
clenL Qgflwelerena
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137. How did General Agreement on Tariffs and trade (GATT) emerge?
shgeufl  wHID  eafsgsd Sgrer Qurgeurar  @uUUBSD add QMBS

Qeueflliu L g ?

(A) Ashes of Havana Charter (B) Ashes of Vienna Charter
QDGUTETT FTFET GUMTS hIFHET NwIETETT FTFT CUTSHIGET

(C) Ashes of Hawaii Charter V Ashes of Punta Del Esta
QDEUML ETEGT GUTSMEIGET Charter

Yemm @QL_6) NGV STFQT GUTSEISET

(E) Answer not known
eden Gz flweildvenaw

138. Which agreement established the International Monetary Fund (IMF)?
aThs @uUUBSD sreuGses pramu HiFwsams Hlmeu 2 sallwig ?

(A) Myrdal Agreement (B) Hirschman Agreement
W6 euubSLD ablreipGer eUriLibsLd

(C) Chenery Agreement M Bretton Woods Agreement
Qearfl @UUBSLD QT L6 @plev eUUBSLD

(E) Answer not known
e Gsflweicrensw

139. Where was Asian Development set up?
AW cueni&d erii@ W TOLAGSLILIL LG ?

(A) Delhi (B) Lahore
QLéved QT&aiT
(C) Singapore M Manila
Aris Ly wenfleom

(E) Answer not known
aflen Qgfwaeildena
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140. Which is a correct statement?
I. SDRs have been created under SDA with IMF.
IMF 2 _en SDA &fler §ip SDR o (peunssiucLg.
II. The value of SDR is now fixed in terms of Gold.
SDR Qe wduy @QuGung srssdar <igliueL o Hiamuissiuc @ erarg.

ITI. SDR scheme has created pure fiduciary reserves.
SDR b gnu pwlisms Qmuussamen 2 (meunssujeTarg,.
oTgl Fflumer gnphm ?

(A) Tonly (B) IandII
3 AT . - T wpmyw 11

(C) TandIII gaf I, II and III is correct
I womw ITI L II opgw IIT sAwrerg

(E) Answer not known
cllenL Qgflwaelerene

141. International Development Association is affiliated to
sireuGge euetisdl shisb amCs @ameamssliul (erersg)

(&) IMF (B) IFC
427 IBRD (D) GATT

(E) Answer not known
clenL Qg flwalerena
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142. Floating the currency in the Exchange Market means
uew ufrho shemsuiled WSmel wTHM NEFD eTeTLg)

143.

(A)

P

©

D)

(E)

Keeping the currency without deciding the exchange rate
wrhn Nssms Siwralsamod uamsms eSS HESH

Exchange rate is determined exclusively by the force of demand
and supply

ooy Mhsd  pravwsHer  Cseeu  wHmd  Sefluurd  shoguid
Hlremruissiiuh e

Exchange rate determined by bilateral agreement

wrhn Afsb @msTuY @uUBsEsTH SToralssuuBEng

Ayoiding flutuation in the exchange.rate

uew wrHD NHs5HD THD @rsshsmar selligsH

Answer not known
elenL Qgflwaeilcrena

How the utility terms of trade expressed?
Lwerun® euisss e1ds GMuiL L ereueurm GeuallliuBiggamb ?

(&) Tu=TrRx (B) Tu="Ts.Rx
@/ Tu=Tru (D) Tu=Ts.u
(E) Answer not known

eenL Qgflwaeildene
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144. Which country was held the Eight round of General Agreement on

Tariffs and trade?

oL meug &Hm &mis eufl LHMID cuTsssD WBsmen Qurgieurer @uUBS Fnl LD eThS

BIg6d BepLGluhmg) 2

(A) England
Qrdleonbg

(C) India
@B

Answer not known
edlen Qs fNweildena

(E)

145.

(B) America

SQw&sT

M Uruguay

2 (H&Gau

How was fifth round of General Agreement on Tariff and Trade called?

gl LONIL aissssdharer Qurgeuren QUUBSESlET LBsTUE &OHM erliulg

D WESILHE DS ?

y)’ Dillon Round
Sevaerr &)

(C) Uruguay Round

2 (h&Ceu &Hm)

Answer not known
ellen Qg flweNerenen

(E)

Economics 78
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146. Most favoured Nationals clause implies that

147.

Blaseyw eflmwuiiuc L prpseier el @msHna.

I

II.

III.

(A)

©

()

No Nation should restrict trade.

eThg BTHWL aiTESES50S &L (HUUHSSEEmLTS).

Each Nation should be treated as the favoured nation.
euleur@m BrEw a@mLriuwrer FrLrs &masuuL CeuaT@HLb.

There should be bilateral Trade.
@msILIY uiTsssD @HéEs Ceuam@Ib.

I only # 1 only

_I WL [Hb . . II v @b .
I and II only (D) II and III only
I wpmd I we o IT womd IIT wi EHw

Answer not known
levL Qgflwaelerenew

The percentage FDI flow India received out of the Global FDI flow

percent of 30.7 in the year 2003 was

2 ELWLTESETe elleneteurs 2003-1b Y@M 6UeTTHg UL Brhiseid 30.7
ggais anaflu Corg wseds® (FDI) Qeuwiudier. Qeaupdéd @bHur Qupm

FDI-er urius 560D Y GLW.
A 1% M 0.8%
©) 2% (D) 0.4%
(E) Answer not known

e Qgflualcrens
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148. Trends in India’s BOP’s: Identify the sequence
@pdwurede  Gsrhuueareysefler @@muy  Curs@sen: sflurar  auflagamw

D@ L_WIMTETLD &TTS.

(a) Period I 1.
sreoow 1

(b) Period II 2.
sroow 11

(¢) Period III 3.
sreow 111

(d) Period IV . 4.
sreow IV

(@ Gy @© (@
A) 1 4 2 3
(B) 3 2 4 1
& 2 3 1 4
(D) 4 1 3 2

(E) Answer not known
e Qs Mweldena

Economics

Emergence and persistence of structural
imbalances

slLewly gnms srpeyseaier Czmdmbd  wHMID
Blenaws Femenio

A period of Deterioration.

&mfley smebd

A period of transition and improvement.
wrHnb LHNID wWearCaHnsder meLd
Stabilisation and strengthening
Blerouu®sgs0 wHNID eueIILIHESSIS
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149. Balance of payments may be defined as
seauprareupery  GHsseyd  desrhluumeuseaflear @@Ly
UM TWMNISSHOTLD.

1. B iszero Rf — pf =0= BoP as equilibrium
B ysuw Rf — pf =0= BoP swfleme

2. B is positive Rf — pf >0 = surplus
B Gpiweop Rf — pf >0= 2.un

3. B is negative Rf — pf <0 = unfavourable
B adivep Rf — pf <0 = srsswpm

4. B # Rf — pf = Residents of the counts
B # Rf — pf = sawé@gseflan @uulmuurerigar

ereuT eTeumHeEnm

(A)‘ 1 and 2 are correct (B) 1 and 3 are correct
1 wpmiw 2 sRlwrereneu 1 womb 3 sRwurereneu

(C) 2 and 3 are correct % 3 and 4 are correct
2 vpmd 3 sflwrareneu 3 wHmid 4 sflwrareneu

(E) Answer not known
clenL Qzflweldens

150. If the National Income of a country increases, it will lead to an increase

in imports there by creating a

@@ Briger Csflu eumwrand HHaMNssTed g G QnsGuiau Hsfss

ULIGUEGSHGHD DSE (LPALD
(A) Surplus in Balance of Payments
Qar@hluere) wblene 2 Lifl
(B) Export increases
Tpmed ofsfie
M Deficit in Balance of Payments
QarhLuuerey swblene LHDTSEG®D
(D) Import increases
Bseiod sflse

(E) Answer not known
cllenL Qg flweldvene
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151. Choose the correct Answer the following

Wereumid sflwmer uflene Caib0sH&SH6yD.

Assertion [A] :

aalypissad [A] :

Reason [R]:

srreord [R] :

Balance of Trade (BOT) is the difference between the
value of a country’s exports and the value of a
country’s imports for a given period.

auranflu goflene ereug GHNUULL srsHed @@ BT g6

Qns@wd  woHmb  gHmwS  wHIYEE @eLCu o drer
SHWTELD.

Balance of payment records all transaction of capital

nature.

gpOsaTs gLl  J@arsg  uflcuisseamensameruyn
Qegudgid QmUy ugleysdr. : ’

(A) Both Assertion [A] and Reason [R] are true and Reason [R] is the
correct explanation of the Assertion[A]

aualymissd [A] wpmb srred [R] @rearhn o grew wpmid sryemrd [R]

auellymigseden [A] sflwmrean eflatgswm@b.
(B) Assertion [A] is true but Reason [R] is false
aualymissd [A] 2 arenw e sryeamd [R] Qurowreng

M Both Assertion [A] and Reason [R] are true and Reason [R] is not
the correct explanation of Assertion [A]

awdynissd [A] womb smern [R] camew woimpn stremn  [R]

auallymssalar [A] sfwrer eletésnd =i
(D) Assertion [A] is false but Reason [R] is true
aualymisse [A] Quriwrearg <yeame sryamd [R] 2 areno

(E) Answer not known
ellenL QgRwelldene

Economics
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152. Which of the following is debit item in Balance of Payments?
WereumueupDed erps e curanilu Gegusg Heveuller LHD <@ ?
Import of goods
@n&@wd Qummerser
(B) Investment income from abroad
Qeveflpmige Qaiwiul L apseShsaflear g Guplul L eumLTaILD
(C) Receipt of transfer payments
Curs@eursgl sLLent 185
(D) Export of services
ghmnd Ceameuser

(E) Answer not known
cflen Gz flwedidenen

153. Who had developed the concept of single factoral terms of trade?
auranilu aldssdd geatans sryanfl HHEms 2 (HeuTsElweui Wi ?

(A) Keynes (B) Malthus
&eav DT SEV

(C) J.S. Mill J Viner
Qgy.erav. Ll aNGQeorir

(E) Answer not known
e Qzflueildere

154. Let X = exports, M = imports, then which of the following equations
refer to the Balance of Trade.
X = gopudsda, M =@nsswdsd, Gaeumd soaur@seiia g eumamflu
swhleoamws GNsSHng.

M X-M=0 (B) X-M=1
© X+M-=1 D) X+M=0

(E) Answer not known
e Qsflweierenaw
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155. India’s major trading partner country on imports is
Qnseuduier @bdHureler wsHw euisss el Lrall prE

(A) United States (B) UK
EMAMYEE:T) @rdlenbg

(C) Japan % China
SUILITE et

(E) Answer not known
e Qgflwelerene

156. The National Income is
GCsflw eummand eTerLg,

;&{ Y=C+I+X-M B) Y=C-TI-X+M
Y=C-T+X+M D) Y=C+I-X-M

(E) Answer not known
slenL Qg flwelerena

157. Which standard is related to Mint Parity Theory?
e swblever Caemumr® erhs grblaaw e QT iyamLwg)?
(A) International Silver Standard
uearm(h Qeusrtatl grHlena
M International Gold Standard
uearT(h shs srblane
(C) Internal Silver Standard
2 dTpTL (B Geudrafl grHlene
(D) Internal Gold Standard
2 MHTL() ks SyHlane

(E) Answer not known
ellen Gz Mwaeidenew
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158. Sound Finance means
B B eremudlen Qummer
(A) Rational Financial Adjustments
ugssdley B sfldsiisd

(B) Unbalanced Budget
gwleowunn eure-Csmey S b

(C) Surplus Budget Policy

2 ufl auey-Qeewe| QaTaTans

M Balanced Budget
goflere aurel-Qgwe] FLb

(E) Answer not known
flen Qgfwiefidrena

159. Compensatory fiscal policy approach is
mh Qauyn HHs Qamatens NemIEGIP®D CTETLS)
(A) Built in stabilisers
Hlevouuhsdaermd sl Ul g
(B) Discretionary fiscal policy
Ariuwrer s Qsmeteans
Built in stabilisers and Discretionary fiscal policy
foouu@sdsernd sl il Lg womb ewuuwrear HEs Csrdarams
(D) Counter cyclical fiscal policy
adi spH&s Hs Qararens
(E) Answer not known
clenL Qgflwalcrene
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160. The Policy which refers to the way the government plans a budget
surplus or deficit to compensate spending by the public in the economy is

called as
Qur@mermgmrsdler Qurgwssaiien Qevallamsamea FROFLWL SFsmmsd S LBHW
e ufl  @weg ubprEGmpew  GNEGL  Ostdas GTeaTm)
DDP&SLILHS DG
(A) Fiscal Policy (B) Monetary Policy

HE Qamearens uemrallwed Csmerens

M Compensatory Fiscal Policy (D) Compensatory Monetary Policy
mH ey s Qsrarens m@H Qewy varelwd Qsrearens

(E) Answer not known
ellenL Qgflwelerena

161. Find out the Correct Answer
sflwrar ellenLemw sarh Gy &se|b

(1) Wealth tax is collected from Productive as well as Unproductive
assets.
Oemggieudl eremug) 2 pusd wHmL 2 Husd Qeuwiiuits Qsnsgseia
Qw3 eu@GssuHSeng).

(11) Estate duty was a type of inheritance tax of large estates.
uereer el eratugl @@ uasuld Quilu udTmasERssTar eurflasadLb

u@Gd&@Gw auflwmng.

(A) (i) only )af (ii) only
(1) bW (11) v Eb

(C) both (1) and (i) (D) Not both (1) and (ii)
@ranpw (1) wHmbd (11) (1) wHmd (1) @reTEHn Qdme

(E) Answer not known
elenL Qzflwelerene
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162. The Principle of autonomy and responsibility in Federal Finance implies

163.

that

gl L8 fldwusde swrld wpmb Qurmiiys dsratens eearug)

(A)

(B)

The centre can never interfere in any matter of the state

wrhlosder arbg clagwsHaib WSHL TH gL (1PLYWTE)

The centre should interfere in all matters of the state
responsibility

wrhlosder simarsg leustyhsaian wsHL ys goauid GeuaT@b

M The centre should not interfere, as far as possible, in matters

D)

(E)

which are exclusively the responsibility of the state

wrfesdar WrsHCust Quryuiurer cleswhiselidr smOLIETEU®T WSSW
2ATE gOOUILSE SaL g ]

The centre has no right to interfere

Qe gl wsHu THEE 2 flaw Ghame

Answer not known
clenL Qgflwalerenev

Mention the method of Financial Adjustment between centre and the

states.
wsHu  wHYL wiHleBsErsE QoLCuwrar H &l Gswugd Popaw
&SN Layid.
9/ Tax sharing (B) Public debt
aufl udlitey Qurgs sLem
(C) Excise duty (D) Land Revenue
gemed euifl Hleo cu(meumil
(E) Answer not known

e Qsflwalcrenaw
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164. Mention the non method of Debt redemption as

sLanm W6 wpenpwhHn pevmenws aenm GMuLeyb

Jf  Repudiation (B) Refunding
Blyrasfliy LOMISLET (PO

(C) Sinking fund (D) Capital levy
sLar sle) HS ppsar Sirane

(E) Answer not known
clenL Qg flwelerena

165. The methods of payment of public debt
QurgissLear HmLuas Qeqszib WPaDae

(I) Sinking fund
PG B

(II) Debt swapping
sLe uflrhHmow

(IIT) Capital levy
epevger euil

(IV) Fiscal drag

g Qe
Of these,
G eneusgafled

(A) Iand]II are correct (B) II and III are correct
I wpmw IT &M IT womw IIT &M

I and III are correct (D) III and IV are correct
I wogw IIT &M III whmw IV &

(E) Answer not known
cllenL Qg flwelerena
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166. Different kinds of public debt are classified in to heads.
udeuens Qugs sLesmer SD&EsaMTL auamasate Wflssmmb

@) 2 o
€ 3 (D) 4

(E) Answer not known
clenL Qzflwaeilcrene

167. The Government can promote rural development through
Armolym euaTiéflerw HFeTRSD eTH6m epeons GCbuBSS W L.
(A) By spending on remote village
Qsrevargny Armonseie QFwey Quieugen ApLd
M By Rural electrification programme
Arroliypn Wenowwrésd SHLsser epeld
(C) By appointing a minister from rural areas
Arrolyprsaie Qmbg @ AMWEFMT HWSILUSET D

(D) By introducing rural development as a subject in the university
LOEMOEGSPSSE Symwliym cuarTT&FSl enwl R UITLLOMS

SDWPSUIUHSSHICUSET pPLD

(E) Answer not known
e Qsflweicrena
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168. Match the classification of expenditure :
Qeaaey euarslium L QuTESEs

(a) Purchase price 1.  Dalton
Qametpsd alene LTEDL_6bT

(b) Obligatory expenditure 2. J.S.Mill
slLTwué Qeoey Geg.eTaiv. 6D

(c) Transfer expenditure 3. A.C. Pigou
uflorHns Qeeey g.8. Qe

(d) Variable expenditure 4. J.K. Mehta
wr Qewey Cx.Cs. Cugsm

@ ® @© @
(A) 4 1 3 2
(B) 2 4 1 3
s 4 2 1
D) 1 3 2 4

(E) Answer not known
ellen Qs flwedene

169. Commodities having inelastic demand will have
ApélpEslunn Cosmeuamw Qsrar, QurmLser

W Less resistance to forward shifting
perGanmsdl psieusn@ Gmmpeurar erdliliy

(B) Greater resistance to forward shifting
penGannédl pateugnE SiFswrar erdriiy

(C) Less resistance to backward shifting
UenrGarmédl paieusn@ @emmeurar eréliiiy

(D) Greater resistance to backward shifting
WenCarmsd) paieush@ idswrear erdiiy

(E) Answer not known
elen Gz flwadene
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170. Mention the tax not included in GST.
l.eran.1g. @6 2 aTarmisTs eufledw @GHludLe.

(A)

(©

(E)

VAT M Stamp duty

vy gl b euflser WpsSeny eul

Entry tax (D) Entertainment tax
BIPe| cuil QurgGurse eufl

Answer not known
cden Qs Mweildene

171. G.S.T. refers to
G.S.T. ghudpeug

% Goods and Services Tax

(B)

(©

D)

(E)

g76@ wHnib Ceeeu cuil

Goods and Sale Tax
§76@ wHHIL Hueer eufl

Goods and Small Tax in Company
876 wHnb APw sLEAUEH eur

Goods and subsidies (subsidy) tax company
876 wHnWL wrelw aufl (APw 2 Husd AurmEHEES)

Answer not known
enL Qzflwaelcrenc
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172. If a person earning Rs. 15,000 pays Rs. 5,000 as taxes and another
person earning Rs. 40,000 pay Rs. 12,500 as taxes then the tax rate is
said to be
- 15,000 svurds@gn emei e 5,000 el Qsggdame, . 40,000
sbUTE&EGL wHGpTmeurt . 12,500 Qegusgfpri. Qbs cumswrar eufleldgn

(A) Proportional (B) Progressive
eidlgrany cHldlg curfl cuemt eildlg eui
Regressive (D) Neutral
@®n 94l eufl Blevowrear aufl g euf

(E) Answer not known
allen QgRwelerena

173. The war time tax on all wealth holders with the goal of retaining public
debt is generally referred as
Curirstomseld sl smwaws Gonss WGHurs Csrsgéad 2 drareise B

allflssliupw euflenw ereueunm @NUKGHHeTDg).

(A) Indirect tax M Capital levy
weanps eufl epesaer uifl

(C) Excise tax (D) Customs duties
QewQummer eu &hIGS SiTeneuseT

(E) Answer not known
ellen QgfRweNerene
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174. The land tenure system existed in the pre-independence India
s5bATISIDG WwhHwsu Gpsureisd Qmpbs e 2 dow wpeapsar
1. Zamindari Tenure
slensmil pepm

2.  Mahalwari Tenure
wandeuil wpenm

3.  Ryotwari Tenure
@ruseuril wperm

4. Bhoodan movement
yllgrer Quissd

Choose the correct code

sflumear @Muir e CaibosHsse b

(A) 1only (B) 1 and 2 only

1 L 1 wHmIb 2 W (D
(C) 3only M 1, 2 and 3 only

3 (b 1, 2 wHMID 3 WL HID

(E) Answer not known
elenL Qg flwelerene
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175. Which of the following statement are true about classification of taxes in

India.
@Qpdureiled cuflsamar uansliLBSgieug LUHHW o @TeLD

(1)  Direct and indirect taxes
Crrg wHOID werPLPs cur

(11) Taxes on income and taxes on capital
auffl LHMID cuBLTET WHHID ppegeT eurl

(111) Taxes on person and taxes on things on income

saflpur cufl LHMD eumHLTaT eul

@f @ only _ (B) (i) and (ii) only

(1) bLEb (1) wpmb (1) wCEWL
(C) (1) and (ii) only (D) (11) and (iii) only

(1) wogb (11) wCEL (11) wHmb (111) LI ED

(E) Answer not known
edlen QzMweldere

176. Which one of the following is a source of tax revenue?
Yereueuameumdled erg euMeumeuruien <smyib ?

Export duties (B) Stamp duties
ghniwd &L eawd WSHdT SL_Lawd

(C) Registration fees (D) Dividends of public enterprises
udle] sL_Lawid Qurg fneuarsafler reysQsrams

(E) Answer not known
eflen QgMwaeldene
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177. The most of the global warming over the last 50 years attributable to

178.

activities.

sLps D0  gan@seldr o2es GeliubwLTEMEE WPEHW  sTTEILTS
-1 QewOUTRSET &mSLIL[HSlemme.

(A) Animals
cllvrii@sar

(B) Industries only
Qamflh&sTemasem L (HID

(C) House hold
GuilmuLser

M ‘Human activity and industrial activity
weaflgiser LHMD CsTHD HLGUGEDSSET

(E) Answer not known
Mer Gsflweidere

According to 2011 forest survey of India indicates the tree cover over
percent of the land area.

2011-b <yamgenr @bHu eamser sams@apudar Ly Qurss Hovugided
ggailldlg Hleotiugly euariuGSHum@L.

Y7 21.05 (B) 23.00
(©) 25.00 (D) 22.04

(E) Answer not known
cenL Qzflwaelcrend
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179.

180.

181.

NABARD and Indo-German watershed development programme

duration was 1s Maharastra state

wapmrragrm  wrflogddo NABARD ovopw @pCsr-Ggiwen sl @ B
Cuernameno S L e sreveray D GLD.

W 1992-1996 (B) 1991-1995

(C) 1993-1999 (D) 1990-1994

(E) Answer not known
clenL Qzflweleren

The largely determines a member’s voting power in IMF
decisions. . : : .
IMF -en @pyoyser er@édlenn Gung o iy preseflen eums@ <iefs@n a6 T®S

&Miihg Srewriiu(bHib

@ Quota (B) SDR
RHSEL([H SleTey SDR

(C) Gold reserve (D) Domestic Currencies
g @\ (mly 2 eTHIL() QFemeuanf

(E) Answer not known
sl QzMwelerene

During 1993-1994 to 1999-2000, employment growth slumped to a level

of percent per annum
1993-1994 (pged 1999-2000 yamhsailer yamh srref CoumereumiitiLy eueTids
3aTe W& G®neuns 5ilflgons Sravriiuc_ L e

0 10 (B) 0.8
©) 0.7 (D) 1.5

(E) Answer not known
sl QgfMwelerene
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182. Which one of the following Sector received highest FDI inflow during
2000-2015.

2000-2015-1b sT&slLidar aps gople Hs aeforer FDI wsdh
Qewwiul Ler.

183.

(A)

B)

(©

o

(E)

Industrial sector
Ggmpldgienm

Computer Software and Hardware
saflafl QuearQummer ey WHHID eueT@uUTHET S

Power and Electricity
e <Hmed wHmb WlerFmyid

Service Sector -
uenflser gienm

Answer not known
e Qgflweidena

Globalisation is associated with incredsing

2 Q& LDWILDNEE6D SfsfuyLer QgrfymLwg).

(A)

P

©)

(D)

(E)

Trade Openess
<fsfls@b aisss Spps How

Economic Openess
<fsfs@n Qurmertsny Spbs Hlae

Welfare Openess

< fsMN&@h poer Hnbs Haew
Digital Openess

<fsfls@gh gglrd dpss Hera

Answer not known
alenL Qzflwelcrend
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184. Privatisation introduced in India for take-over of sick public sector units

1mn

year

@pdurneiey “pelleuanL by Quimssen’ Hpeuemusmer seflurt  WLWLTES
Si@iwSueflssiurL e

(A)
©
(E)

1958 g 1991

2001 (D) 2016

Answer not known
cdenL Gzflwaeferenew

185. Globalisation Refers to

-2 OSHLWIDTESHD CTeTLIG)

(A)

o

(©)

(D)

(E)

Economics

Induction private ownership in Publicly owned Enterprises
2TFEGE Cempgorar Hneuemsaie gelwrt 2 Aowow gHuSSSH

Creation of Environment in which free flow of Goods and Services,

Technology, Capital and Labour among countries
BrhsEnsda Cu srs@seT wHmD Cemeusdr, Qsmfomrub, ApoFTD
LHDID 2 Py &SHETLNS QLD QUILTUSHETEN GLPMQ 2 (HeUTEESH

Elimination of control of the Government over Economic activities.
QurBeTTETy BLougsossar Bgrar ifflar s QLU @L BéEs
Transformation on a Nation from a focus on Agriculture to a
Reliance on Manufacturing

@® Bl aaustusdd seend Qeusguddmbs Osmfldgimnss
LOTH IS0

Answer not known
eflenL. QsMwaldene
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186. The concept of Privatisation was the Outcome of

187.

system.
“saflwri LwLTEs®” aaiauamsurear Qurmpertgmrsder Qeueflium® @D

(A) Planned Economic system
Sl tuc L QurmeTTSTy Henliy

M Capitalist Economic system
poorefggien QUITBATISTT SepUL

(C) Socialist Economic system
gwHgeu QUTHETTSIT DL

(D) Mixed Economic system
sl QuITHETTSTY ey

(E) Answer not known
cder GsMweidene

The Chairman of NITI Ayog is
NITI <Cundlen sepaveuit

(A) President M Prime Minister
GGHWTES SDeUT umys Wyswi

(C) Home Minister (D) Vice President
2 GTHIMD SMDEST glemaent merTSlus)

(E) Answer not known
lenL Qgfluaidrene
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188. The Chief Executive Officer of NITI Aayog is appointed by
NITI Aayog - e semaerw Hiteurs igeuar wrpred Hudssuu@dHpm

% Prime Minister (B) Vice Chairman of NITI Aayog
O EN NITI Aayog en gemanggmaauir
(C) President (D) Finance Minister
GG WTE SMO6UIT Bl i

(E) Answer not known
edlen Gsflweldwene

189. NITI Aayog Sustainable Development Goals 2030 1includes People
" Planet, Prosperity, Peace and -

NITI Gundlen 2030-samer Havwss aueried @wde, waser, CareTaer, eueTiés,

Sienwd LHMHID 2 areTL_SSlwg

(A) Agriculture (B) Industry
Geuermesreno Qamfleger
Partnership (D) Service
uiisefl iy vewt e

(E) Answer not known
clenL Qgflweferene
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190. Which programme has been adopted in the mid of 10t Five Year Plan?

191.

106ug ghsrarh HLsder wsHulder aps HLb ghmsAamemeriiulLg)?
National Common Minimum Programme
Csdlw Qurg G@PHIULE SlLb

(B) Employment Guarantee Programme
Ceouava 2 mél S ib

(C) National Employment Programme

Casdlw Ceuanaeumitiiy Sl b

(D) National Food for work Programme
Coumasstar Caslu 2 ameys S Libd

"(E) Answer not known

Mev Qg fMwaeidena

Which one of the following is/are considered as a major failure during
the 10th FYP in India?

Demeumeuaraupded erg 10-eug LEsTETGH Sl sdar &AW  GenanmLcuns
S(HSLILLL G ?

(A) Increased unemployment rate
Cauamawlemend 560dsb dsfliy

(B) Declined Agriculture sector growth rate
Geuerrair giewpullen euari&sl s GHoDHSS)
@7 Both (4) and (B)
@rareo (A) wppin (B)
(D) Regional Inequalities
QuLLTY gHNSSTREY

(E) Answer not known
cden GsMweldwene
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192. What was the objective of Fifth Five Year Plan?
5-cug RbsTeT(H L arang Crréswns Qaramh GeuduBssrurLg) ?

@0 Growth with social justice  (B) Self-Reliant

Fops - BAYL 6 sniqw euariss shHeEmiy
(C) Growth with stability (D) Self-Generating
Hlevowimer cuarirés &W 2 Husd

(E) Answer not known
cllenL QgRwaférena

193. The long term planning objectives to be achieved over a period of
BarL sre Al e Crrssmse HanGon <@h sraib

(A) 1year (B) 2 years

1 =687 2 YT (h&eT
(C) 5 years W 20 years

5 AT (H&H6T 20 Y &r(hser

(E) Answer not known
ellenL QgRweNerene

194. The strategy of rolling plan was adopted during the primeministership of
aaib S o 58 s Wrsnlar srwsdd ghmsQsmareriiuc g

(A) Lal Bahadur Shastri (B) Indra Gandhi
T USGTT Fmevdll Qi srHd
Morarji Desai (D) Rajiv Gandhi
Qumyried Caemi gredey &b

(E) Answer not known
cdlen QgsMwaelerenew
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195. The Rourkela Steel Plant was established by support of

Country.
misECenr @by @ CQurgisZeD Hpeuend eHs BTl e geilujLer
Blmieutiul L g).
W German : (B) Russia
Qe JeipuIT
(C) British (D) USA
Mg 6ig A EE:)

(E) Answer not known
e Qsflwalerenaw

196. Which one of the following is thé period of the Ninth plan in India?
Qeeumeuaraup ey erg @bHwreilen 9-cugl BHSTET(H L ESTOD UG ?

(A)  1985-1990 | (B) 1992—1997
yef 1997-2002 (D) 19801985

(E) Answer not known
clen Gz Mweidene

197. “Growth with Social Justice and Equality” was the objective of
FYP.
anbs mpsrarh HlLsHar Corsswons “eueriAluLen saqw seps HE O
sohlea” sramiiulLg).

(A) 6th (B) 7t
6-61.!@] 7-61]@]

(C) 8th Mgth
8-6ug 9-augl

(E) Answer not known
e Qsflwalerenaw
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198. The significant departure in the eighth plan is in respect of the

distribution of investment in between the —— and
sector.

qLLTeug RhsTarhs S sarg LwaTsms Psedh udiorarsms
LHND ——— gGn&GaTT(H gleuridwg).

(A) Public and Joint sector
Qumrg LHOID LB G

(B) Joint and Private sector
sal_(h WHMmID geflwumt geoo

(C) Private and Third sector
saflwmt wHHID WeprbBlee g

M Private and Public sector
saflwm wHmIbd QurgsSgemD

(E) Answer not known
eflen QgRweNéene

199. The achieved growth rate of India during the 11t five year plan
@bdwur 11-cug gpisran® S srosded Qupp eueiss Ngb

A) 9.2% B) 9%
©) 8.9% M8.2%

(E) Answer not known
cden GsMweldenen
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200. Arrange the following plans in chronological order.
Qetreu(mbd S L misamer sTeeuflengliLig SW&ES6LD.
1. People’s plan

W&SET FILLLb
2. Bombay plan
umbCu L
3. Jawaharlal Nehru plan
spauanreme GCrm SLib
4. Visveshvaraya plan
clevGeusveuguiwim i b
A 1 2 3 4
& 4 3 2 1
© 1 20 4 3
(D) 2 1 4 3

(E) Answer not known
cflenL Qgflwaeildvene
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